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Windows XP/Vista

OLE2.0( / )
2D/3D HTML/Tex CAD
31x25:0=3" 4°=10715086071862673209484250490600018 L
LXs 8 1056140481170553360744375038837035105112 10511043200=2 x5 x 7= 1924697
312949846 x 2.58641157 =8.00417102524118 493612249319837881569585812759467291 7553
15 1468251871452856923140435984577574698574
3.12949846 x 2.58641157 =8.09 8039345677748242309854210746050623711418 /\/z < /\/3 =.3.46410161513775
9 7795418215304647498358194126 739876755916 L _2
5543946077062914571196477686542167660429 (T+i)=2i J=I
16x16=256=(100) 5=(400) 831652624386837205668069400
a=(537) b=(754)  0=30°45 . ,
] 12,456,700 1.03=12,830,401 (A+B-C)(A-B+C)=A%-B%+2BC-C
- 8bcosh=33.517 (R +50c>-11c+3) +(3e-1)=oc +22-3
axb=(-23, 29, 4) 2 2
[=3_
32+ 63_7“5 0.55x"+0.30°~0.522x=—0.4x°+1 5t 10 a2
N3xn2+y/ 6'=17.146 X = ~0.39191 + 1.2335 22/ (57 ml’) vy
=(x+y+ +y-
sum(10, 20, 30)=60 x =-1.0139 (963 y_ 3) Y
average(90, 85, 78, 65, 92) =82 x =-0.39191 - 1.2335i cos e-sm_e , o,
. 0 x =1.0705 =(cosb-sino) (cos 0+cosOsing+sin 9)
[1k=120 <5)=252 ['(10.5)=1133278.38894884
2 _ d ) 2
2a+b+c‘5 a=-2.5072 —siw=cose - L_Pon® (ofyze®
43 Ea—o. 7b=c b=12846 dx
o5, | 4589 T g 1| 12100327102 i o ¢ =-25707
5 g5\ 56 3| ° 242235609 PR uxy)=xy 0 ux.y) 9 u(xy) _
5x 72_77 d X oy
78x21° 8 b>0
3us 5kg NeWtOZ" b3 . x(6) = 5(coso+0sing)
& smo= 4 ¥(8) = 5(sinB-6cosh)
N 3 e —cosb=6 (5) Tou
mO_Skg V_Sm/s
1 newton((4),(5),a=0,b=1)
2 L
MoV =22.50, a-1.91084482173435 f N
b=5.57385213050846 B
40 -16 80 \\ano 160 24
~2)=2
|| (x<0) -2 a a 1/a log,a | log.a <80p
flw={ N@  sx<1)  fl5)=0.57735 2 |2.00000]0.50000[0.30103]0.69315
2 (1<) N2 [1.41421]0.70711]0.15051]0.34657
B f3)=3 T |3.14159[0.31831[0.49715[1.14473
e |2.71828]0.36788[0.43429]1.00000
1 % sin(x+y) =0 774978 x(u, v)=cosu+vcos(u+2)cosu
/1+x2+y2 Y=L y(u, v)=si nu+vcos(u+2)sinu
PoxPaT o CredBOT0 z(u, v) =vsin(u=2)
5757373 B 202 2431396 1176785 10789 225.36  2.07  (0<u<2g, -0.3<v<0.3)
d - 1111602 535542 2046 543.30]  2.08
2 sinwrcosy = AL _
dx N 1173994 566975 4185 280.52  2.07
o 1o 5 a1l 821589 397219 4189 196.13  2.07
A S TUASTURP UL 5538581 2676521 21209 261.14  2.07
4
ig'la,jxi:a:l.,jX1+a2,jX2+a3,jX3+a4,jx4
HTML/Tex
n(1)=1
1 n=I1 n2)=1
hn)={1 n=2 n(3)=2
hn=2)+h(n-1) n>2  pi)=5
h(10)=55 [Prime( x )
z v /Excel var m
0 0 . ( for k =2 to x step 1)
n n o, n o3 n mek
g'; g';ggg n Zflxi glxi z‘]xi Zflyi br eak (x+k]xk=x
TS n n n n n —0.0001434 jreturn m
0.30.3045 Fr 342 ¥ Fa 3 @) _ _ .
0.4lom0s| | &% &HYNOoEYN & &l 1.0045726 Ay 10070 c=2 =1
0.5 0.5211 n n o3 n o4 n n g = —0.0201107 7( for k =1 to 500 step 1 )
0.6 | 0.6367 21X XX XX X 2 (x:Yy) d=Pri me(c)
0.7 1 0.7586 =1 =1 =1 =1 =1 0.1906954 _
- - n o3 n o4 N5 N o n 3 =C c=d
0.8 0.8881 DI D WD S D I > (x3Yy) j=i+1
0.9 ] 1.0265 i=1 i=1 i=1 i=1 =1 c=c+1
1]1.1752 |br eak j >100
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Y =t Tt
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. — -
mn under AB  over  AB OA vector
e.1/4
0.034
10.589 3,
abcdefghi jkImn efghl]
ghij abcd®*g klmn
302"'?:/2:7'2 x2+y2=7‘2 fwxe'sxdx:0.04 M=
0
2x-5y=a 2x-5y=a U

f “reS*dr=004 911=945
0
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S

3
a 100,
b 100[ kgl
c 100kg

10, +200_=10, 200_

0.45,+400 =,

=12.5_ =20.4_

=12.5 x 20.4, =255

= X

85
s -1 — e} ! " _
sin "0.475=28°21'33.66 120 70.83,,
mO:5.6kg v=3.9 .
N 2_
E-2m0-2x56mx(&%m)42amj

(
1[ £] =1000[cm*]=0.001[m’]
1[ 1=1.818[m]=0.59994[ ]
1[ nm] =10"°[ m] =0.000001[ mm]
1[ t] =1000[ kg] =10°[ ¢]
1[1.y.] =9.46053x 10"[km] (1
1[ ft] =30.48[ cm] =0.3048[ m]
1[ ha] =100[ a] =10000[m?]
1[ p m] =0.00001[ dm] =0.001] mm]

0.45, +400_+20.5 =870.5 _

0.45,, +400,=85000_

a 100m?

hal 10000m?

acre 4840yd>

b 100Fm’

(10/33)°x_m?
36

30

300

3000
1555.2

N 1m  kg/s?

MN 10°N
KN 1000N
mN 0.001N

g N 10°°N
dyn 107°N
Mdyn 10%dyn

kaf 9.80665N

afi 0.001kgf]

tf] 1000kgf]

Ibf] 4.448221615N

pdl0.1382549544N

sn 1000N




1km= m 1cm= m Imm= m

1km=1000m 1cm=0.01m 1mm=0.001m
lka:D m2 1cm2:D m2 lha=[] a la=] m2
1km°=1000000m° 1cm’=0.0001m> 1ha=100a  1a=100m°
lem= m° M= ¢  1de=0 £  1mi=01 £
1cm°=0.000001m°  1&¢=1000¢ 1d¢=0.1¢  1mf=0.001¢
1 =0 1 =] 1 =
1 =60 1 =3600 1 =24
X
10x 20=200 x Ctri
10 - 30=300
10 40=400 = Cul

(ab+cd) 2_o’b’+2abecd+cCd’

x( )
(-Zy 2) : (3y 4) =11 (-Zy 2) X (3y 4) =(2y _2)

27T =6.283185308
sintt =0
5211 -3 =50.26548246

521t -3%m =167 sinTt  sinTt =2sinTt



3.1x25+2=3875 312 x 258 = 8.0496x104
31

v
3.1><2.572—? 3.1X2.572—3§

3.12949846 x 2.58641157 = 8.0942
3.12949846 x 2.58641157 = 8.09417102524118
3.12949846 x 2.58641157 =8.09

3.12949846 x 2.58641157 =8.09417

3.1x2.5+ 45+ 8.9=10.62222222 3.1* 2.5/4.5+ 8.9 = 10.62222222

123456789123456789123456 789 x 234567890234567890234567890
= 28958998559823207090687415563633627032769418501905210

1234560000000000 x 2345670000000000 = 2.895870355 x 10°°
2% = 1267650600228229401496703205376

i+3 7i
i><[3+3><{3><(17 - 3)"'6}]:6%
3 470 13 12 5304
3 1
L l3+3x |2~ 7 . s +6f | =6
3 47\ 13 T 12 5304
5.3%9%*=1.006693127 5.3°%%=0.567213037113908

273 +5/7 x N120 + 4/256 =69.43102851
N2+57/8=11/2 W 2x3/2+/5x4/3=/15+6

(111000),+(101011), =(1100011),  (7777), + (2011), =(12010),

(FFF),, - (11A),, =(EE5),, 16 x 16 = 256 =(100000000) ,=(400),=(100)
30°45'22" + 40°55'49" = 71°41'11" sin'0.8=53°08'
sin'0.8=53°07'48"37 sin'0.8=53°
123,456.3 x 789,456.9 =97,463,427,883.47

@+9)(3-1)=10 o™ - 1.4 10206857034707x10% i
- 2
— -
Vo157 (e ? ) =-1- j4.10206857034707x10™*°

1000 3
nZ:l n(n+ 1) =1 m=

o | 456 x 789 - 12345 x 899 | = 10738371

xdx = 0.5

0 10! = 3628800 10P>=90 :C,=10

D

2 15
= 0.999000999 > > > Im=127 Hln = 1307674368000
m n=

1m

n

120=22x3x5 60x2=22x3x5 1024000 = 213 x 5°



a+2 2

x’-5x+6  ox’—4x+3 2+ 3w—4 2 I,
2 T2 X7 2 =1 a——7r
xX'+dx+4 2 +3x+1 2x-3x-2 a+l
(cosy+sine) *=cos’y+2cosysinc+sin’a (a+2a,+1)(a,~3a,+1) =af—a 0,120 1—6a§—a o+

» (a,b,c)(a,b,c,) =a,a,+bb,+c,c,
a b 1 d -b
¢c d) da-cb\-c a (ap bz’c1)x(a2’ bz’ Cz) =( b1cz_bzcz’ —Q,C,+a,Cp a1b2_a2b1)
a b

a, b\ (a, b,\_(aa+c,b, b,a,+d,b, +2 =ad-bc+2
(cz d1>x<c2 d,) \a,c+dc, be+dd, c d

flx) =" m=a+b

fm) —a’'+4a’b+6a’b’+4ab’+b*
9 1 1 1 1 1 1 1 1 1 1

Ekterl) (121) T 21ez) T 3103 Ta1aa) Fo1es) Teire) T 7117) Y 8(158) T 9(149)

ag(b—c)+b3(c—a)+c3(a—b) =(b-c)(a-b)(a-c)(a+b+c)

2
xr2x’+ 72’ +16x°-x" +102°- 352" -100x+100 =(x-1)%(x+2) 2(x2+5)
1 ,1

L Lyt L (sm-2y)?
1L T3 GY =5 (3%-2Y)

sinfx+2sinccosy+cos’y =(cosy+sine) 2

(a1+a2+1)(a1—2a2+1)—4aj =(a,+2a,+1)(a,~3a,+1)

a2( b—c )+b2( c-a )+c2( a-b) (x3—1 )(y3—1 )
(azlb —azc) +b’(c-a)+c’(a-b) ( (l x-1) (x2+x+1) N y3—1 )
(azb —azc) +(—lab2+bzc) +c’(a-b) ((x-1) (x2+x+1) N gj—] ) (y2+y+1 )
x*+y*=(x?sinf0+y?cos?0) (1) €))
/\/m - /\/ oc4+y4 :/\/ xzsin26+yzcosze
D IR eaczs' n0+y°cos0
2xc+5y=12 (2 @)
Tx-3y=24 (3) (©))

7x(2)-2%(3) . 41y=36 x



x°-1=0 x=-1 x=1

o = 0.4335529413 + 1.088845248i

o603 226-8=0 x = -0.9564729399 |
o = 0.4335529413 - 1.088845248i
x = 6.089367057
7 2.7 3 1 1
6 +3x+4—0 :)c——l+14 70 x——1—14 70
x=v5
3 3
x —=5=0 4/5 5
x=— (—%m(—i )
2 2
W5\ A3 .
- (- 2 )Tz (V8
2 —b+n/ —dac+b’ —b—n/ —dac+b’
ax +bx+c=0 x = x =
2a 2a
a+b+c+d=0 - 277
a+2b+3c+4d=5 a=9.552 29
20-4b-16c-8d=32 b=-16.638 965
-a+3b—-6¢+9d=10 ¢ =-0.379 b=- 58
d= 7466 11
a b ¢ d C=—"o
11 1 1 4 4§§
1 24 3 4 5 d -
2 -4 -16 -8 32 58
-1 3 -6 9 10
-5a2b
x= >
x-ay=b ce
cx-2y=-5 _ -be5
Y ca2
(2-3i)X +(4+0.2i)y+82=3-7.1i X = 0.52893 - 0.95302;
3x+(9-7.10)y+72=5+0.2 y = -0.59572 + 0.34208i
(4+3.2i)x+6y+(4-5.3i)z=2-7.3 z=0.90657 - 0.60704:
a*+ata,=0 a, = -1.5986 a, = 0.79519
_a1+a2a1+a3=_1 aZ = (0.016614 aZ =-2.0874
_a1+a2_a§=_5 a3 = —2572 a3 = 1.4551



(a-5)*+bi=4.5" a>0 a = 5.099
(a-2) 2+(b2_b1) 2:4.92 b1>0 &= 0.20798
a§+b§:4.82 az>0 bl = 4.4989
ai +bf=6. & b,>0 b, = 4.7955
sint+cost=0
B EBSS_L
. ————
SRV
B S S G
,,,,,,,,,,,,,,,,,,,,,, B
t = 2.356194 t=5.497787 t=8.63938
t=-405° t=-45° t=315° t=-225° t=135° t = 495°
. _ t = -7.068583
sint+cost=0 -10<t<10 t = -3.926991
t = -0.7853982
t = 2.356195
t = 5.497787
t = 8.63938
3
kizlaktk=10 a={1,2,3} t = 1.23822641389967
X 2 . _
fo(-t sin)dt=0 = 1.300229986
= -405°
= -225°
sin +C0S =0 = -45°
-10 10 = 1356°
= 315°
= 495°
10 -1
12 1
2 2 3
1 0 -1 0O O A=2
A=1 2 1 E=(0 1 0O det(A-AE)=0 L=1
2 2 3 0 1 A \ =3



b=-76 c=480

x3+9x%+bx- c=0 (10)

x<0 (11)

solve((10), (11), x)
x={-5, -12}

{ a0, +0=—1 (20) a;>0 A a,0,<0

2 2__s

sol ve((20),(21))

a;, ={0.71904, 2.0161}
a, ={2.2062, —0.72402}
a, ={ —2.5863, 0.4597}

sint+cost=0 (3)
newton((3), t=0, e=10"°)

t=—0.7854
o’ +sinb=3 (4)
e’—cosb=6 (5)
newt on((4), (5), a=0, b=1)
a=1.91084482173435
b=5.57385213050846

(21)



SIN45°=0.70711 tand0°50/25"=0.8644 sin(2-j5)=67.479 + 30.879i cos~=0.86603

6

sin{30°,45°,60°}={0.5, 0.70711, 0.86603} secd5°=1.4142 cosecd5°=1.4142 cotd5°=1

T + co ™21 sin'0.2=11°32'13" sin(2-31)=0.57065 - 1.9834i C0S'0.2=1.36%
4 4 ARCSINO.2=0.20136  sin{0.2,0.3,0.4}={0.20136, 0.30469, 0.41152}

sinh0.5=0.5211 sech(0.5-2¢)=-1.0552 + 1.0655¢ TANH{0.5,0.6,0.7}={0.46212, 0.53705, 0.60437}

sinh°0.5=0.27154 arcsech(0.5-2i)=0.45718 + 1.4643i COTH{5,6,7}={0.20273, 0.16824, 0.14384}

logl=0  log7i=0.8451 + 0.6821%  LOG10=1 log{2,3,4}={0.30103, 0.47712, 0.60206}
In1=0 Inj5=1.6094 + 1.5708i LNe=1  In{2,3,4}={0.69315, 1.0986, 1.3863}
log,10=2.3026  log,(3-4i)=2.3219 - 1.3378i log8=6  log,;l0=1  LOG,e=1

A={460,468,477,459,472,426,441,426,442,494,476,457,458,463,428,400,318} Al =17 A=445
sum(A) =7565 min(A) =318 var(A) =1618.3  varp(A) =1523.1  stdev(A) =40.227  stdevp(A) =39.026
average(460,468,477,459,472)=467.2  {460,468,477,459,472} =467.2 median(460,468,477,459,472)=468
(normdist,norminv,chi2inv,chi2dist, tdist,tinv,fdist,finv)
(cov,covp,cov_matrix,covp_matrix,corr,corr_matrix,var,varp)

J(-05)=0.93847  J(0.5)=0.93847  J({5,6,7})={-0.1776, 0.15065, 0.30008} J,(1)=0.44005
Y (05)=-0.44452 Y (5)=0.14786  J,({7,8,9})={-0.30142, -0.11299, 0.14485} Y ,(0.1)=-127.64

R(3-51)=3 R(2+j7)=2  J(35)=-5 J(2+j7)=7  arg(3-5)=-1.0304 35i=3+5i 2+j7=2-j7

r(0.5)=17725 (1+0.5))=0.80169 - 0.19964i  I'({2,3,4})={1, 2, 6}
B(3,5)=0.0095238 B(3,5{)=-0.0079576 + 0.012202i  B({2,3},{5,6.1})={0.033333, 0.0057011}
P,(5)=305 P,(35i)=-245-45i  P,({56,7})={2641, 5535.375, 10321}  u(0)=1  u({-1,0,1})={0, 1, 1}

(100.2351=101 (-100.235]=-100 1100.235|=100 1-100.235|=-101

GCD(901, 1649, 1037) = 17 LCM(90, 16, 10) = 720 mod(10,9)=1 divmod(10,9)={ 1, 1}

sort({ 901,1649,1037,200,4105,87,941} ) ={87, 200, 90L, 941, 1037, 1649, 4105} L s

reverse({ 901,1649,1037,200} ) = { 200, 1037, 1649, 901} delta(1,2)=0 iglj;ldelta(i,j)pi,,-=l5 p:(4 5 6)

pow(2,0.5)=1.4142  sqri(2)=14142  exp(2.0)=7.3891 sign(1)=1 L 789
) _ _ S

ca(3Q 3903l 59 1 T TR (o EEETIIRSY

create array(p)={{1, 2, 3}, {4, 5, 6},{7, 8,9}  creste matrix({{1, 2}, {4, 5}})= (411 é )

eigen M
svd M. ;



le|  (x<0) 100

foo) <N (0<x<1) 100
& (I<x) "
T T :{ X X
- (90,200)=18000
f(-3) =3 S N N (150,200)=24000
f(0.25) =0.5 ,,,,,,,,,,, _, ,,,,,,,,,,,, ,,,,,,,,,,,, (0,100)=0
f12) =144 (150,100)=12000
2 -1 0 1 )
| ‘ (-150,100)=
_[sin26cosd 0 O 2n
x(g)_{simecose o 0 4n
1)- o
(6)_{sm299n6 0 0 2¢
x,=459.800  2,=469.960 YO \siosind 2r 0 4n

¥,=99.990  y,=89.001

A X=X,-2; A Y=Y,- Y,

114 Y,
_ 11 1
B =tan NS
B Ax 0 AY O 17
5 = 180° -B Ax 0 Ay O
“]180° B AXx 0O Ay O
360° - Ax 0 Ay O
0 =312° 45" 19"
yen = doller x rate doller =521 rate = 99 yen=51579

4 7
f2)=4 f(§)=1§ fG)=—1 f{123)=(1,4 9}  f(sin45°)=0.5

fle)=2a”
fla+b+c)=a’+2ab+2ac+b’+2bc+c”  fN3+n[2)=2)6 +5

H (ax)=sinxc+cosx T
H (€)=1.396802 G(8°15")=1

G(x)=sin“oc+cos’x

k(xx)=H(2)+G(x) k(2.5)=0.7973285 k(25°)=2.328026  k(0)=2



( 1) ﬁlA u'=fi(t’x) (’i’=1’ ) k )
j=

Y
E o\ o \"(a)\"
Aij_lu\;\»Sm]qij (t’x)(c’ixl) o \ox,) \ot)’

X=(x, e X)), (W =1y i), TR =+ o+,

Petrowski
(2) >l aver.e =0 A
\H|+V=mj
m
()
C

(a+b)"=a"+ (;n) a" o+ (;n) a" o+ (%_ 1) ab™ "

C
© % az"
frerfa o
2] <p
f(z)=f°°e‘t¢ (zt) dt
0
Borel (2 > a"
n=0
Borel
ann Borel d(2)
jwe_td)(z) dt=S
’ n
e ®8,X
xﬂ_z}n& e %0 = S [S,=a,a+ ... +a,]
2 a, Borel

2 a,=S(B) Borel



AB A
ABD F X

sin( A£B) =sinAcosB+cosAsinB

cos( AtB) =cosAcosBFsinAsinB

- 1 - 1
v ' = X X v ' y Xz >

X 2,.,2 y
x*+y? Xty x+y? Xty

sin(6,+6,) =sin0b,cos6,*cosO,sinb,
cos(6,+6,) =cos6,cosb,Fsinb,;sinb,
dv - 1 dv -y 1

dt /x2+y2 x2+y2 dt x2+y2 x2+y
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r=n2 - 100

999

r=1.41421356237309504880168872420969807856967187537694807317667973
7990732478462107038850387534327641573

r’=2.00000000000000000000000000000000000000000000000000000000000000
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1.77245|0.56419|0.57236| 26.58681 |0.88623 kinumerical_t«':tblee,k=11-26572

Fp NI EY

Nm |1.46459|0.68278(0.38158| 21.96888|0.73230

10,000
3,000
1,000

J

14,000
7,000

10,000
4,000 7,000
2000 10,000

15,000 4,000

38,000 2,000
2,000 15,000

5.000 38,000

1,000
20,000
28,000
7,000 - -
87,000




f(x):ax2+bx+c (az 0) a x B

y=f(x) x=p
b b>-4ac
20T 4a
paapa;Ba;B Bl B »
a >0 F(B) Jf(a)
f(a) F(0)=q FB)
a <0 f(a) F(0)=q FB)
FB) f(a)
0 0 sind cos0 tano
% 30° /0.50000000.8660254 0.5773503
% 45°  0.70710680.7071068 1.0000000
% 60° |0.8660254 0.5000000 1.7320508
g 90° {1.0000000 0 557135183.9441555
%n 120° 10.8660254-0.5000000 -1.7320508
%n 135° 10.7071068-0.7071068 -1.0000000
%n 150° 10.5000000-0.8660254 -0.5773503
T 180° 0 -1.0000000 0




ax={52, 54, 47, 49, 48, 50, 46, 45, 52, 50}
y={62, 63, 56, 60, 58, 62, 57, 56, 61, 60}

Xy
Xy 999

'sokan(x,y)

var cov,n cov,n
n=||x||

return 999 n=||y||
cov=1 3 (4, X))
return cov/(stdevp(x)-stdevp(y))  stdevp

x|
<|

Xy
sokan(x,y)=0.9335

'Prime( x)
var m
(fork=2toxstepl)
&m:k
break | x+k | xk=x x Kk
return m

Aj 100=0
c=2 =1

[(fork=1to500 step 1)

d=Prime(c)
Aj:C c=d

[j=j+1

c=c+1 ¢ Prime(c)
break j>100

A={2,3,5,7,11, 13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 9
7, 101, 103, 107, 109, 113, 127, 131, 137, 139, 149, 151, 157, 163, 167, 173, 179, 181, 191
, 193, 197, 199, 211, 223, 227, 229, 233, 239, 241, 251, 257, 263, 269, 271, 277, 281, 283,
293, 307, 311, 313, 317, 331, 337, 347, 349, 353, 359, 367, 373, 379, 383, 389, 397, 401, 4
09, 419, 421, 431, 433, 439, 443, 449, 457, 461, 463, 467, 479, 487, 491, 499, 0, O, O, O, O}



Sheet 1

12 65 38
53 16 19
140 77 120
23 85 3
234 156 56

Sheetl

[ a=0
( for K=11to 5 step 1)
( for L =1to 3 step 1)

b=Sheet1, ,
|llla=a+b  b>40
a=986
2
Sheetl X
;‘;‘8' esumi x ) Tabl eSum( 1) =427
( for k =1 to 5 step 1) Tabl eSun( 2) =383
b=Sheet 1, ,
a=a+b b2]40 Tabl eSum( 3) =176
return a
Sheetl Sheet2
Sheet 2
(fork=1to5stepl) 115
3 88
SheetZLO:LZﬂSheetle 337
111
446
Sheetl Sheet3
Sheet 3
(fork=1to5stepl) 13225
3 2 7744
Sheet3, = (Z Sheetl, 0) 113569
’ L:l ’
12321
198916




1000

sqgrtf(x) pif(m)
var sq var A,B,C,D,S Al
sg=sqrt(x) TA=1
(fork=1to6step 1) B=1/sqrtf(2)
sg=(sq+x/sq)/2 S=1
return sq (fork =0tomstep 1)
C=A"-B’
Al=(A+B)/2
B=sqrtf(AB)
A=Al
S=s-2C
D=2A"/S
return D

pif(12)=3.1415926535897932384626433832795028841971693993
75105820974944592307816406286208998628034825342117067
98214808651328230664709384460955058223172535940812848
11174502841027019385211055596446229489549303819644288
10975665933446128475648233786783165271201909145648566
92346034861045432664821339360726024914127372458700660
63155881/748815209209628292540917153643678925903600113
30530548820466521384146951941511609433057270365759591
95309218611738193261179310511854807446237996274956735
18857527248912279381830119491298336/7/33624406566430860
21394946395224737190702179860943702770539217176293176
75238467481846766940513200056812714526356082778577134
27577896091736371787214684409012249534301465495853710
50792279689258923542019956112129021960864034418159813
62977477130996051870721134999999837297804995105973173
28160963185950244594553469083026425223082533446850352
61931188171010003137838752886587533208381420617177669
14730359825349042875546873115956286388235378759375195
7781857780532171226806613001927876611195909219014746
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Excel

’ CAD

Excel
= 0.384 W2
0.49 M 0,809 \p
= — —— L — I\ —— 43
2 12673 0 I 11 p
/ \
| _— T~ [\

3,309 100 2,09
0.064x%(2.753+1.655)x10000=2821 (kg)
0.286x0.365x10000=1044 (kg)
0.140%(0.312+0.488)x10000=1120 (kg)
W=2821+1044+1120=4985 (kg)
PH=4985%x0.025=124 (kg)

Excel -

CAD
(c )

1 = 2650 x 0.160 = 424 (kg/ )

2 = 80 = 80 ()

3 = Wi+tWe X 0.20 = 100 ()

4 = 180 ()

= Wi+W2+W3+W4 = 784 ()

(c ) wo = 0.097 (kg7 )

Excel




Excel

Excel Excel
85 AO sk @
i 2975023 1479644 6056
A 2016452 1001877 G408 Excel
B 2024044 0DAE22S B363
BE 7053685 3554373 3767
T& G056158 3023018 5082
R 12570904 6261068 2103
2=
| 8790900 4443955 2416 % 2975023 1479644 6096
2016452| 1001877 6408
2024044 996225 6363
7053689| 3554373 3767
Excel 6056159 3029018 5082
12570904 6261068 2103
8790900| 4443955 2416
/S 2975023| 1479644 6096
2016452| 1001877 6408
2024044 996225 6363
7053689| 3554373 3767
6056159| 3029018 5082
12570904| 6261068 2103
8790900| 4443955 2416
/S 2975023| 1479644 6096 488.03 2.01
2016452| 1001877 6408 314.68 2.01
2024044 996225 6363 318.10 2.03
7053689 3554373 3767| 1872.50 1.98
6056159| 3029018 5082 1191.69 2.00
12570904| 6261068 2103 5977.61 2.01
8790900| 4443955 2416| 3638.62 1.98
Excel
Excel
7000
6000
— 5000
x 4845
308.1 4000
3141
1756.7 3000
1116.8 2000
5336.9
3390.3 1000
0
Excel %

Excel




18cm
50cm
40cm

12mm
@ 48.6%x 2.4
@ 48.6x% 2.4(2

5
W—" 2 5
16

f,=120kg/cn’?
0.3cm

:15m/h
:2.9m
-2.3t/m’

P = 15,2.9,
PO = P :6-26t/m2:o-63kg/cm2

,0,2.3 = 6.26,,,

E=2x 10°kg/cm’



=Tcm

3
b t3 1cmx (1'2cm)

b =1, I = 12 = 12 =0.144_
b t? B 1enX (1'2cm)2 a
Z = 5 = 5 =0.24 s

Jo = 120,g/cn2

_ 4
E = 2% 10y
lcm D wl = Pyx 1,=0.63,,,cp2% 1:,=0.63, ¢,
Mmax
'el ’el - 18cm
2 2
M = wl fl - O'6‘?’kg/cm>< (18cm) —25 52
max 8 8 kg cm
Oy
M 25.52
G, = =% = “E0 -106.33,,.,
z 0.24; g/cn
o, _ 106-33,4/cp2 “0.89 40 ok
fb 120kg/cm2
0 max
O ax :0.3cm
500 10, 5x 0.63,.,. % (18,)
0 max— - = —kalen < =0.299,, 0.3 OK
384El 384x 20000 cm

kg/cmzx 0. 144cm4



z(em®|  H(CemE(kg/cmd)ifb(kg/cm®) 1200
60 9.44  28.3 2100000 2000 4500
60 18.8  56.6 2100000 2000 3500
90 122 547 70000 105 5500
100 37.5 187] 2100000 2000
24 6777 80000 100000 105
2400kg/m*x 0.15=360kg/m’ 2400kg/m*x 1.6=3840kg/m’
50kg/m’ 50kg/m’
150kg/m” 150kg/m”
20%  360kg/m’x 0.2=72kg/m’ 20%  3840kg/m’x 0.2=768kg/m’

360kg/m*+50kg/m*+150kg/m*+72kg/m*=632kg/m’
W=3840kg/m*+50kg/m*+150kg/m*+768kg/m*=4808kg/m*

I=15¢cm z=0. 24cm’
- 2
Wx 17 4808kg/m’x (15cm)” 1=0.144cm
M= - =13.5225kg .
8 8 E=7x 10 kg/cm
2
Muax  13.5225k fb=120kg/cm
& ;== J _56.3438kg/cn? < b OK
Z  0.24cn’
4
5% Wx 14 5x 4808kg/m’x (15cm
6 O/ > US4 o314a1824780n2 < 0.3t OK

" 384x Ex 1 384 70000kg/cmx 0.144cn?



)

2 p=(pftppg) -W-WF pf: (t) Pha: (t/m?)
W: (t/m?)  Wf:
pf
pf=Af, pf: (v A ()
A=23.0x-46.0 fo: (t/m?)
f,=0.016x+0.15 X:

x) pf x={2.00, 3.00, 4.00, 5.00, 5.455}
2.00m( 3.00m 4.00m 5.00m 5.455m( )
pf=max(Ax fy) A T Ax T, pf

2.00 0 0.182 0
3.000 23.000] 0.198] 4.554
4.000 46.0000 0.214] 9.844
5.00] 69.0000 0.230 15.870
5.455 79.465] 0.237| 18.855
pha
Pha Kox Cx NotKx ryx Bx N;/2+r,x D% N
Pha: (t/m2) Ko, K: C: (t/mz)
Dq: (m) ri,ry: (t/m3)
B: (m NO,Nl,Nq:
Ko=1.5 K=1.9 Ny=0.9 N,=2 N,=5-9998
C=5t/m? D,=5m r1:3t/m3 r2:2t/m3 B=5m

Pha=Ko* Cx NotKx ryx Bx N;/2+ry;x Dix Ny

=1.5% 5t/m’>x 0.9+1.9x 3t/m°x 5mx 2/2+2t/m°x 5mx 5.9998=95.248t/m’

5.0tx 4=20t
5.125tx 4=20.5t
3.625tx 4=14.5t
w=20t+20.5t+14 .5t=55t
2.0m
wf=rw x Vw wf:
Vw: (m3)
rw=1t/m*>  Vw=19.0025m°
wf=rw x Vw=1t/m®x 19.0025m°=19.0025t

) ro : (t/m)

> p=(pf+pp,)-w+wf=(18.855t+95.248t)-55t+19.0025t=78.1055t



C=0.15m W=11.0m
X
Y
c 2, 1.00 0.016
W 2.0 0.037
3.5 0.078
5.5 0.150
Y
C 2 1.0 0.010
y = 1_6 -7+ 49+19OO—2 2.0 0.034
W 3.5 0.080
5.5 0.149
2
A x=X,-X, A y=Y,-Y,
1A y!
-1 1
=tan
B :Ax
[ B Ax>0 Ay>0
180° -B A x<0 Ay>0
180° +B A x<0 A y<0
5 = {360° -B Ax>0 Ay<0
0° A x>0 Ay=0
90° Ax=0 Ay>0
180° A x<0 Ay=0
\ 270° Ax=0 A y<0
L:/\/ A |+ |a Yy |
X1 Yy X2 Ys Ax | Ay B 5
69.841-106.511/76.518/-95.746| 6.677 |10.7658° 11" 27" |58° 11" 27" [12.668 T.12
76.518/-95.746184.212/-97.025| 7.694 |-1.279(09° 26" 17" [350° 33" 43" |7.800| A.34
84.212(-97.02588.207/-77.091| 3.995 [19.934(78° 40" 03" [78° 40" 03" [20.330| A.65
88.207/-77.091185.439/-59.305|-2.768|17.78681° 09" 15" |98° 50" 45" |18.000 A.44
85.439/-59.305169.841-106.511}-15.598-47.206[71° 42' 55" [251° 42' 55" 49.716/A.100




(0.54+0.33)x 0.9x 10.0 7.83 m
9.9-(0.5+0.43)x 0.745+0.063+0.06+0.27| 9.60 m
9.9-5.5 4.40 m
0.63x 10 6.30 m
0.63x 0.1x 10.0 0.63 m‘l (c-50)
0.43x 0.015x 10.0 0.06 m“(1:3)
0.53x 0.05x 10.0f 0.27 m‘121-8-20

(0.54+0.33)x 0.9x 10.0=7.83 7.83
9.9-(0.5+0.43)x 0.745+0.063+0.06+0.27=9.60, 9.60  m’
9.9-5.5=4.40 4.40 1’
0.63x 10=6.30 6.30 m°
0.63x 0.1x 10.0=0.63 0.63  m?| (c-50)
0.43x 0.015x 10.0=0.06 0.06  m?|(1:3)
0.53x 0.05x 10.0=0.27 0.27  m?*|21-8-20

-1-



N=15.5, bx D=55x 70, 2-22¢® HOOP 90 @250

vzl MistMae QreHc>Mgc
" max(MisQrcH) QreHe<Mge

QRC N=0
0.052Pt°#*x (180+Fc) .
Qre= M +2.75/PW-G | X Bx ]
4012
Qq
0.052x 0.217°%x (180+180) _3)
= 230 +2.7x A/0.001x 2400 | x 55x (0.8x 70x 1073)=25.89
HC
H.=340,, M/Q=H, M/(Q-d)=340/70=4.86 — 3.0
MRC N=0
Mpc=0.8:atg ,D=08x 38, x (2x 2400x 1.1)x 70,,=11.24,
QrcHo=25.89% 3428803 > Mq.=11.24, M=M Mg
Mg ABOL 4-22¢
D=52,,, B=40
T,=0.75,x 2x 3.8x 24=1368,
i N+T,
M, =T, dt+0.5D(N+T,) | 1- 0.85BD, .
i ( ) 155,+13.68, )
=13.68,% 16,,+0.5% 52, (155:+1368))x |1~ om — 0~ 180, =9.08, -
dt
TY 0.75 ' nt' AB' FY
BD
Qfs

Q;=max(0.5N,1.15T,)=max (0.5 155,1.15x 13.68,)=15.73,
M=M +M=9.08, +1124, =20.32,

Q=15.731



390
358

1)

A 2xBf tf tw hw=2x30x1.6+1.0x28.8 124.8

bh,'~hy)

1.0(358-288°)

Z=1824 - 1824

6n,

(

(100)

3 N 71 (39)
Q -36 (-22)

22

(167 +22 )
L= 5.7
(100 +13)

s 57
M (167 +22 +100+13)
D 5.7

Mp= 44.3+71.0 =115.3 kNm  Q,=36.0+22.0 =58.0 kN

Z=1721 A=1248  f~11521
M, 115.3x10° o 5

O, = = = . —_— =
ST Z 7 1721x00° b

x(2.0-0.6635)= 44.3KNm

x (2.0 -0.6605)=71.0kNm

x (2.0 -0.6605)=71.0kNm

288

?
A
5

1721.6

H

me 700= 663.5

x5700= 655.8

o 13
ST 100+13

22+13
D™ 167+22+100+13

x5700= 660.6

Q, =36.0 kN Nc =71.0 kN

Qe =22.0 kN Nec, = 39.0 kN

Qp =36.0+22.0=58.0kN  Nc,= 71.0+39.0=110.0kN

Nc,=71.0+39.0=110.0 kN

fo=156.67  f,=235.0



(t/m’

10u/n 10, 200/n 200/n
15, 15, 4.0, 2.0, 2.0, 4.0, 4.0,
1.5,% 0.6 x ( -15,) 0.8 x(  -2.0,)
3, x 1.5, % 0.2 x(  -15)) x 2.0, 0.4 x( -2.0,) x
3 1.5,x 2.0,%
(m
t/n)
=2 (
! x 1.5,
1.5,% +0.6 x ( -1.5,) =
107\/}1
1.5,% +0.2  x(  -1.5) # 3, 1.5, 4.0,
1.5,% # 3,
:{ x 2.0,
2.0,% +0.8 x ( -2.0,) = 10,,, 20,
2.0,x +0.4  x ( -2.0) # 3, 2.0, 4.0,
2.0,x # 3,
\ x 20,/

15 ,,2.9,, ,3.1,2.3,,s =2,% 2.3,,,5=4.60,

15 ,..2.9,, ,0,,2.3;,3 =2, 2.3;,310.8%x 2.3,,3% (2.9,-2,)=6.26,,.2

7Y

15,,152-9,,  52-9,,2-3¢p =2,% 2.3;,,5+0.4% 2.3, 3% (2.9,-2,)=5.43,,,2



1. P .=184kg/m’
M x
:FB-40x 230 Fig-2
] P =184[ kg/m’] L=850[ cm]
L
Szgx 1825[ mm]
850[ cm] 2
= =5 x 1825[ mm] =5.1708[ m']
1,825 P=P x S=184[ kg/m’] x 5.1708[ m’] =951.4[ k]
14,700mm b=40[ mm] h=230[ mm]
1825 bh®  40[mm]x (230[mm])° .
_ =17 = B =4056[ cm']
1,825 T ’
’ | 4056[ cm ] 3
230 __x _ 40%6[cm | _
B | L ZTh T 2s0rmmp ~RTtemd
[ S ] Fig.-1 I o 2 2
: L e
; 8,500mm ! = 4
: |40 |F1227[cm] z=613[cm’]
@ A=bh=40[ mm] x 230[ mm] =92[ cm’]
P p P
122. 7[cm ]
=1.155[ cm]
A B 92[ cm’]
Fig.-2
RA RB RA=RB=2P
417 —l—L/3 % _PL_9514[kg] x 850[cm] _
} L=850¢em Mina="3 = 3 =269563[ kg cm]
951.4[ k
Q=P T cz% & =10.34[ kg/cm ]
92[cm ]
L 850[ cm]
Px 5 9514[kg]lx — 5 )
0 =0 C= = =764.3[ kg/cm
" Zy 352.7[ cm’] Lkazem ]

2 2
c=No 2 431 ¢ :«/ (764.3[ kg/em®]) +3x (10.34[kg/cm’]) =764.5 kg/cm’]

£=2400[ kg/cm’]

o /f=764.5[ kg/cm’] /2400 kg/cm’] =0319 <1 oK



w=90

I:l Sheetw
W
4000 22.4
Sheetk 250 o8
10 20 30 500 30
0° 1 0.0292 0.0591 0.0906 600 35.5
20° 2 0.0963] 0.1245 0.1538 ;gg gg
25° 3 0.1112 0.1285 0.1660 5080
30° 4 0.1248 0.1488 0.1757 1200 90
45° 5 0.1485 0.1698 0.1915 1400 112
1600 125
1800 150
2000 160
2200 200
2400 215
2600 230
2800 300
3000 315
1. 2.1 2000[kg]
= 2.2 300[kg]
- 1260[kg]
’ 3560[kg]
2.
2,1
2.2 20
2.3 30
V= - :mm| 1200[mm]
xm/min 6
. o :m|  10.3[m]
- 2,6 BD 0.9
H= 2,7 om 0
)8 KW 1.50
n = - 0.80
f= 0.02
B 210 om 66
0~ 2,11 -kg 15
- 2,12
K=0.1538




3.

A=K (BD ~0.05[m])?=0.1538 (0.9x 1200[mm]-0.05[m])’=0.1632[m’]
1

Q, 3.5600[m°/h]

=0.364[m/min]

A 0.1632[n] Q,=3.56[m°/h]
4.
=25[min] l 3
V1 = / =10.3[m]/25[min]=0.412[m/min]
1 1 1
4 sec/min (1 14

V'=Vix 60/4=0.412[m/min]x 60/4=6[m/min]

L+L, 10.3+66
P1 = 0.06x fx wx vx =0.06x 0.02x 90x 6x ————>>=0.135
367 367
L+L, 10.3+66
P2 = fx Qx =0.02x 3.56x ————>=0.015
Q 367 367
Ox H 3.56% 0
P3 = = =0
367 367
Px vx L  15x 6x 10.3
P4 = = =0.151 KW
6120 6120 0-15
P, = P1+P2+P3+P4 =0.135+0.015+0+0.151=0.301
p = jﬁ—-—0'301—o 38 < 1.50KW
"o 0.8 ] )

=0K - (0K or NG



J= j y?dA>0
A

Iyy =JAxydA§0

J =T, +b°A

J,

xy:

J,

XSYS

+abA

T+, J T

X 2 2

J o+, J

=% T2

Iy

Iy >

& n

27,

tan2@,= Jy_Jx

J+d I
X A\ X
J="% *t7 5

A
o2 2

T A =TI =d 4,

Jy=f x£°dA>0
A
2

Jp= f Apsz:JX +J,>0

— 2
J,=J, taP A

- 2
Joo=JpstC’A

“cos2¢-J, sin2g
“cos2g+J, sin2p

Si n2cp+JXyc032cp

“cos2g,-J, sin2@,

“cos2q,+J, sin2Q,

< o0
y /
p
|77_l X
dA
A
Y
y
X < T /")O
b c
VY
a—
Y




[ 1]

oK1

60
R 100[Q]
C 20[up F]
L 0.1[H]
[ 1
f f 60[Hz]
w w 2nf
z R+imlc+icoL
Z=(100 - 94.93)[ Q] {
171=137.88[ Q ]
[ 2]
[ 1
1
wL_ooC (€H)
[ 1
(@)) W W, W o= e
Do _
o =112.54[Hz]
[ 3]
60
R 100[Q]
C  20[p F]
L 0.1[H]
[ 1
f f 60[Hz]
w w 2nf

Z=(92.52 - 44.809)[ Q]
121=102.80[ Q ]

- OK
R L
T AN T
| |
[
C
- 1
Z= 2
1, 1 (2)
R+iw L 1
iwC



Z0=Sheet2, ,

e +1 ¢ -1
s:r+r(l

Q
0.2, h=Sheet12‘1
0.15,.| W=Sheetl,,
0.035,,, t=Sheet12,3
4.7| & =Sheetl,,
[microstrip( x )
h=Sheet1, ,
t=Sheetl, ,
g ~Sheetl, ,
: % N
10h € -1

Z 4=microstrip(W)

Z.4=71.6199992029725[Q ]

w2 2 X 4.6 /
A W=—In
2
(+)
—
h 2
T 2( +1. 1)
t
Wo=x+A W
4h | 8 /
22:30 In {1+ (W ]i| [Q]
Za
e
€ w
return Z_

8.854x 10"[ F/m]

N

http://www.quest.co.jp/koni/top.html
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name attribute value
R, 100[ Q] R, 150 Q] f 60[ HZ] C| vaisble  20uR
C,4 Vvaiable 30uH
® 2rf L, 0.1[H] L, 0.3[H] C] variabld  25uF
L] variable 0.1H
V=9 V] V=12 V] M=0.5[ H] L] vaiabld  0.3H
M| variableg 0.5H
C, 20[ uF] C, 29 uF] C,,=30[ uF] R| variable 1000
4 R] variabld 1500
toL+R+- -ioM . . Vy variable oV
(g) = PG 1 +( Lo %12 -;mg 12) (“2) V] variable 12V
Y LR | 0T e i variabld  60Hz
R 1 vaiebld  3.1416
o| vaiable 376.99H7
1 -1
iol+R+ iC, -loM ) ( i0Cy, -0 Clz)
, . 1 -iwC,, T0C
-ioM to LR+~ G 12 12
1 -1
(7) x376.99Hzx0.1H+100Q2+ (1) x376.99HZx 204 F -(7) x376.99Hzx0.5H
- . . 1
-(7) x376.99Hzx0.5H (%) x376.99Hzx0.3H+150Q+ (i) <376.99HZx 25, F
+ (1) x376.99Hzx30uF -(%)%376.99Hzx30uF
-(1)x376.99Hzx30F (i) x376.99Hzx30uF

Q
1 -1
16) L1+R1+Kcl -ioM . ( i0C,
1 -ioC
-ioM io L+ Rfm 12

g(X’y’&’n):e
h(E,m)= f

1
0

(0.0027047 + 0.012162i) S
=\ (-0.00091016 - 0.0078685%) S

-2ni(2xE+10yn)

[ )rFG(X,y,é,n)dy} dx

-ilwCy,
iwCyy

h(1,2)=-0.00050675 + 0.0028177i

(-0.00091016 - 0.0078685)
(0.002284 + 0.010059%) S

(0.002284 + 0.01006§) Q™

|

_( (0.0027047 + 0.012162)Q"  (-0.00091015 - 0.0078685i)Q"
(-0.00091015 - 0.0078685() Q™

’)




1 2 3 4 5 6 7 8 9 10
2 3 4 5 6 7 8 9 10 1
3 4 5 6 7 8 9 10 1 2 V=0
4 5 6 7 8 9 10 1 2 3 )
A=|5 6 7 8 9 10 1 2 3 4 s=eigen(A,V)
6 7 8 9 10 1 2 3 4 5 .
7 8 9 10 1 2 3 4 5 6 ergen
8 9 10 1 2 3 4 5 6 7
9 10 1 2 3 4 5 6 7 8
10 1 2 3 4 5 6 7 8 9

s={55.0000, 16.1803, 8.5065, 6.1803, 5.2573, -5.0000, -5.2573, -6.1803, -8.5065, -16.1803}

-0.316 -0.263 0.203 0.138 0.070 0.316 0.442 0.425 -0.398 -0.362
-0.316 0 -0.316 -0.447 -0.316 -0.316 -0.316 0 -0.316 -0.447
-0.316 0.263 -0.398 0.138 0.442 0.316 0.070 -0.425 0.203 -0.362
-0.316 0.425 0.070 0.362 -0.398 -0.316 0.203 0.263 0.442 -0.138
y=|-0-316  0.425 0.442 -0.362 0.203 0.316 -0.398 0.263 0.070 0.138
-0.316 0.263 0.203 -0.138 0.070 -0.316 0.442 -0.425 -0.398 0.362
-0.316 0 -0.316 0.447 -0.316 0.316 -0.316 0 -0.316 0.447
-0.316 -0.263 -0.398 -0.138 0.442 -0.316 0.070 0.425 0.203 0.362

0

0

-0.316 -0.425 0.070 -0.362 -0.398 0.316 0.203 -0.263 0.442 .138
-0.316 -0.425 0.442 0.362 0.203 -0.316 -0.398 -0.263 0.070 -0.138

12345 6456
7 2 3 49 8 6 5 14
32123 46054 -
32345 60907 j=1.lIcl
C=8 94 3 21 46 7 8 T
9 3456 799 8
87766 5421
34678 3213
4 58 9 7 03 45

B;;=0

B=1

E =create_matrix(B)

det(C-xE)=0

X = 47.7760550996517
X = 12.0090694 744043
X =-0.773897463182094



Vi

[ r:mzl [mA]

i =2 f,CV,=1.25664[mA]

i=1,x 10'%*°=0.316228[mA]

I =2m f,CV_=251.327[mA]

t :;:1.5625[m5]

sp Nspx L

f,,=N,,F,=640[Hz]

ip=(/\/ i§+i§+io)x N2 x 1\20 =543.68[mS]

A A,
Ax A,=382.5[mA]

inct:{irsin(ZH fbntsp+dly)+iccos(2n fbntsp+dly)
+igsin(2m fontg+dly)fx A2

o v, 2Abt_1
fag™hnot™ 100 A
. Dpe-1
Ryg=sin@m f,nt, )x 2 sin
Dpe-1
Cgg=cos@m finty )x 2 oS

1 o
Mr:Hx n;o[lnctx Rdg]

128
M;%Bx > [({1[mA]x sin((2x 3.14159265x% 20[Hz]x nx 1.5625[ms]+00° ))
n=0

+1.25664[mA]x cos((2x 3.14159265% 20[Hz]x nx 1.5625[ms]+00° ))
+0.316228[mA]x sin((2x 3.14159265x 50[Hz]* nx 1.5625[ms]+00° ))}
x A2) <sin((2>< 3.14159265x% 20[Hz]x nx 1.5625[ms]))x 210‘1)]
=0.362039[A]



18L075-A 14L075-A

PCD=54.57 PCD=42.45
- ) 60 1550 rpm
y 4RK25GN-C - 1400 gf cm 1600 gf cm
20 kgf 25W 200V
18 kgf (1/25
38 kgf 4GN25K - 72 rpm 29 kgf cm
SBR502
n ¢
a 2
A v 0.15 g =0.15
- _1 -
o =tan (T[ » 22.5)— 0.09871 rad
A =tan 'y =tan 0. 15=0.1489  rad
_ tana _ tan0.09871 - 0.3917
T tan(@ + ) tan (0.09871+0.1489) ~ -
n ¢
. tan(o -\ ) _tan (0.09871-0.1489) _
N& tana - tan0.09871 02072
4RK25GN 150 gf cm
kgf kgf X —

Wx px 10=211 X N x T W=38[ kgf] p=7[ mm] n =0.39
~ Wx px 10 38x 7x 10
T 2mxn ~ 2x0.39

_10.86[ kgf cm]
~2.7285[cm]

=0.1086 kgf m = 10.86kgf cm

=3.98 kgf

T,=3. 98x 2. 12=8.438 kgf cm

s = m: 3.437



o T
ul uZ
O ! O
u
1
7'1:?:_1 B e e B (Te+7"|_)
2 1 B e
Y, =—— Y +——
! ?’1 gce gce € B
u r
T :.—1 _STL +S’r‘|_ L
1 2 r T,
U, B
= = =5 +
"=, & %=115 B +1
f
Tp= BTO bt 77




i=isinot i=1e’™"

2n
N N 1 :_At
u=nsin(ot+p)  u=ue®*® =T

U=x/ —J udt TT=—

2 .
=0. 7074 [ul =—#= 0.637u

_ di,
uL—L—d .

u =oLicosnt

u, = oLie ”'=j o Li,

1
U~ E f;lcd t

1 .
U= —=—1C0Swt
C woC

1 4
= e
U o0

1.
ij?'C

J ot_

u : U
Z=—=R+jX=ze'¥ Z=—r=N R*+X?

O=2nf=—7

=rar

F=

232

X
tanp="

=1.11



Ugs=Usr=Urg=n3 Ug=n3 Us=4/3 Uy

P&=P,+jP,=3P, =3P, +j3P,

1,=ig+ig+1,=0

3
u U, U, U.
P,=U.l3cosp U3 cose 2 L
® >
. t
P, U3 cos(p-30°
/3 3
Uz Uz : u
P, 37Rcosq> PAZS%coquZSPX Z=ze'"® Y
3
_I
) "= 7 w w
p:
3 on-n n
S= nl nq: \V;
3 . P,=2mn,M P_=2mnM=(1-s)P,
+
3 oo Y NN
o—
+
P o mu
_3/‘/5'\—0 827 an °
lu.l=—~u=0.827u - AN AN AN
_3 4
lu, 1= . u=0.955u u, "

Ty

t



C
L
BD
ABC Z,
Z,=R;+iw L
ADC z,
* 1
Z,=R,+
2% iwC
E, ABC
II! ADC * * * I; * * *
l,=E /7, 1,=E /Z,
AB AD
RS {1 1
IlRl_ 2 5 . - .
1w R;tiwL iwC 1
R2+ .
. iwC
Ry(iw C)Rp+7 "SI RiHWL iy CR R +R =R +io L
L L=CR,R,
Resl
9 o
-6 0
-5 2
-3 -2
- 2 ‘
1 -2
3 2
5| -2
6 0
9 o
Res2
~7.7942| -4.5000
30° -5.1962| -3.0000
-5.3301| -0.7679
-1.5981| -3.2321
r=1..10 -1.8660| 1.2321
1.8660| -1.2321
Res2, , = Resl, ,cos(30° ) - Resl, sin(30° ) 1.5081| 3.2321
. 5.3301| 0.7679
Res2, = Resl, sin(30° ) + Resl, cos(30° ) = 1962]  3.0000
7.7942|  4.5000




-30°

r=1..8

x(t):{
Y(t)={

t+4sin(t-3m )

t+4t/:t|

6cos(t-311)
0

-30°

-

it} 3.5m

3.51m <t

5.5m

it} 3.51

3.51 <t

5.5m

u(t) = x(t)cos(-30° ) - y(t)sin(-30° )
v(t) = x(t)sin(-30° ) + y(t)cos(-30° )

f(t,n)=

10

20

10 mod(ilrl—tj , 2)=0

8 mod(‘[]:—tj, 2)2 0

x(t)=f(t,10)sin(t)
y(t)=f(t,10)cos(t)

x(t)=f(t,20)sin(t)
y(t)=f(t,20)cos(t)

x(t)=1.5sin(t)

y(t)=1.5cos(t)

1
Con21lr:E(/\/?Conll,ﬁCoan‘r)

1
Con22’r:3(—Con11,r+/\/§ Conl, )

f(t,n)

| 74.3301)  2.5000
~0.8660|  0.5000
| 1.1340]  3.9641
-2.8660| -2.9641
| 28660 2.9641
~1.1340| -3.9641
| 08660 -0.5000
4.3301] -2.5000




Ulg: UD8+ UCS

(R, <R, R, R,




RZ
uo:|u||R_1
o — —
R C Rl Rl Rl %Rl RZ
o 1o—+ +—o¢—1L 19—
* > YD,
O O
1 Y,
1 uol
Uo="Ro u(t)dt+Uqq g |
R, R,
— O 1
R,
o——1—¢
U, lU.Z HIU
o
O QO
1
e (Un, U
“Yo™3 Rl RZ

UgtUp,

U R
Yo 2
Aun——UI _1+_R1
a
u u
a =A —— — a . —=A ——
un un ul ul
a,+A,, a, A,
Rin ® 21c gy~ R
- Aun - Aui
“on ¥ %0, %0i ¥ %07,
u u

Y
UOsn < Aun UIO+ k
CMR

+R,(I5+0.51,)

UOai < Aui []IO+R2(IIB+O' 5‘[IO)




R, X, R
O | | - :—, O
L !_L\ L
gl Xh RFe
Y Y
O O
R;: X, X, R.=1:10:10" 10
U,: U=N,: N,
!1 Rk Xk
o—= L e)
—> —>
U, Yr = gzl
o O
R =R +R, U= Ry,
Xk: X10+X2'c UX: Xkll

U,=

=I5

Il: 12: N2: N1

N, AU= U,sinp+U,cos
U= Fl(Ul'AU) CIPTIREOSY

uk:

I

N Ro+X]

. 0
g Tu100%
_100%
KNT71IN
7 [z
IN . IN

1.8 A2,

u,= 4% 12%



LED

)\ UDF[V] UDBr[V]
GaAs 940nm 1.4 10
GaAsP 650nm 1.6 26
GaAsP 610nm 2.0 30
GaAsP 590nm 3.0 50
GaP 560nm 3.0 50
27a 27b 27¢C
UCC
e R
RV ’f_'_'v_', I
— Y
Olo.. g
R - Uce-Upe R - Uce-Upe-Up, LED
v I \ I
B =250, ) 3pF, 120MHz
5kQ
o B=250
e b 2 _
tr_tf_A/ (ZfT) +(2-2BchRv) ch—SpF
: f=120MHz
'4/ 250 +(2.2x250%3pFx5k0)*=8.3 R, =5kQ
= 2x120MHz ) T(2 P )"=8.3us v
2 GaAsP_LED
I.= 10mA, u = 12V
=12V u
o WUoe 12V-16V “ @l
VT 21, ~ 2x10mA Ip=10mA
t ) Upe=1.6V




174

1/74

ABCDEF 12345 91 -T
H1 -0 -27 2
mm

1 2
@ 52.0"3%¢ +0.045 |+ 0.039
@ 8.0:2%% +0.014 +0.014
62.2'0.03| 0.1 |-0.038
89.3'0.03| - 0.025 | - 0.085
© 7.0 +0.016 |+ 0.065
80.8'0.03 | + 0.004 | - 0.052
69.3'0.03 | - 0.028 | - 0.052
@ 8.5°7%| +0.018 |+ 0.054
70.3 | -0.035 |- 0.00
16.90 | - 0.016 |- 0.021
® 26.0'%°% +0.013 |+ 0.039
12.2 | -0.023 |- 0.019
93.8 | +0.048 | - 0.002
@ 15.0°3%% +0.018 |+ 0.029

329 |+0.039| O
82.1 |-0.021 |+ 0.00
58.0°91 | - 0.031 |- 0.134

MEMO PLAN




HHH_H I

51.54k0
50m®

® 800mm| 46m




_ L-e
g
UL (1-e)k,

ny
M,=F [ nn, k,
1:4
1:10
1:6 1:10
n,=n ©
2 1 Tzkl
M,
= ek,
M,=F r,=
Ty
n,=n, ek,
F=M,Ir,=
n

_ _ 1
MZ_F uTZ_F u'rl nz



Hyt o

250, H,0 c:o%o2 ~.CO,

CH,+20, - CO,+2H,0 C,H,+30, - 2C0O,+2H,0

-—X +ix +2x +3x%x -

:%x 0.5[ m?] +%x 0.09[ m] +2x 0.26[ m*] +3x 0.04[ m*] -0.001[ m*] =0.934[ m®]

21%

1 100

—=—=0.934[ m* =4.448[ m*
><0_21 0.934[ m7] x 1 8[ m’]
= x N =4.448[ m’] x 1.4=6.227[ m®]
+1[ m%] - +2% +3x

=6.227[ m*] +1[ m®] -0.934[ m*] +2x 0.26[ m®] +3x 0.04[ m*] =6.933[ m’]

+1[ m?] - + -

=6.227[ m*] +1[ m*] -0.934[ m*] +0.04[ m*] -0.5[ m®] =5.833[ m’]

O, 5.4
CO,| 6.6
N, 72.1
H,O| 15.9
100

- - =6.933[ m*] -5.833[ m*] =1.1[ m%]

= x (A -1)x 0.21=4.448[ m*] x (1.4-1)x 0.21=0.374[ m’]

20" / x 100=0.374[ m’] /6.933[ m’] x 100=5.4



= + +2x +

=0.09[ m*] +0.26[ m*] +2x 0.04[ m*] +0.025[ m*] =0.455[ m®]
2,3~ / x 100
=0.455[ m®] /6.933[ m’] x 100=6.6
N2
= x 0.79+0.08[ m’]
=6.227[ m*] x 0.79+0.08[ m*] =4.999[ m®]

= / x 100=4.999[ m’] /6.933[ m’] x 100=72.1

H,O
= +2x +2% +

=0.5[ m*] +2x 0.26[ m*] +2x 0.04[ m*] +0.004[ m*] =1.104[ m®]

25~ / x 100
=1.104[ m*] /6.933[ m*] x 100=15.9

100 300 30 1.0 1.5

1]
X
+
X
+
X

X
=10800[ kI/m®] x 0.5[ m*] +12700[ k3/m®] x 0.09[ m®] +35900[ ki/m’] x 0.26[ m’]
+59900[ ki/m®] x 0.04[ m*] =18273[ kJ]

=(1.292[ kI/m°K] x +1.301[ kI/m*K] x +1.652[ kI/m*K] x
+2.105[ kI/m?K] x +1.319[ kI/m?K] x +1.306[ kI/m°K] x
+1.725[ kI/m*K] x +1.499[ kI/m?K] x )x 100[ ]
=534.0[ kJ]

A

= x A x (0.21x 1.356[ kI/m°K] +0.79x 1.314[ kI/m°K])x 300[ ]

t,1 x + 1,2 x
+ t,3 x + t,4 x
A ’
= t,1 x x (A -1)x 0.21+ 2 X ( X A x O.79+O.08[m3]>
+ ;3 x 0.455[ m’] + 4 x 1.103[ m’]
t new(\ ,t)= i i A 7315




©)

CO|HOl H| CO

CH

CH

0

1.306

1.302

1.620/1.490[1.277|1.299

1.544

1.871

100

1.319

1.306

1.725|1.4991.2921.301

1.652

2.105

200

1.335

1.310

1.775|1.520[1.290/1.307

1.765

2.327

300

1.356

1.314

1.8921.545[1.300[1.316

1.890

2.530

400

1.381

1.327

1.9551.557|1.303[1.329

2.019

2.720

500

1.402

1.335

2.022|1.582]1.305[1.342

2.143

2.892

600

1.419

1.348

2.0701.607]1.308[1.357

2.263

3.049

700

1.436

1.360

2.122|1.633]1.312[1.372

2.381

3.189

800

1.453

1.373

2.164(1.6621.317/1.386

2.489

3.342

900

1.469

1.386

2.202|1.6911.323[1.399

2.590

3.447

1000

1.482

1.398

2.235/1.716[1.329[1.412

2.689

3.562

1100

1.490

1.411

2.265|1.7411.336[1.424

2.780

1200

1.503

1.423

2.294(1.766[1.344(1.436

2.862

1300

1.511

1.432

2.3151.792|1.352|1.446

1400

1.524

1.444

2.340[1.817|1.360|1.456

1500

1.532

1.453

2.361|1.838]1.368[1.465

1600

1.540

1.461

2.382(1.863|1.376|1.474

1700

1.549

1.469

2.399|1.884(1.385[1.482

1800

1.557

1.478

2.415|1.905/1.393[1.490

1900

1.566

1.482

2.428|1.925(1.401(1.497

2000

1.574

1.490

2.445|1.946/1.409(1.503

2100

1.578

1.500

2.457/1.9671.417|1.510

2200

1.586

1.503

2.470[1.984(1.425|1.516

2300

1.595

1.511

2.4822.001]1.433|1.521

2400

1.599

1.515

2.4912.018|1.440/1.526

2500

1.607

1.520

2.49912.030[1.448[1.531

2600

1.612

1.528

2.5072.047]1.455[1.537

2700

1.616

1.532

2.52012.060[1.462(1.541

2800

1.624

1.536

2.5282.076[1.469(1.545

2900

1.628

1.540

2.537[2.089|1.476|1.549

3000

1.637

1.545

2.5412.097|1.482|1.533

(X.y)
Xi={1x/100 |
CpDown=

CpUp=

y+1,xi+2

y+1,Xi+3

return (CpDown+(CpUp-CpDown)(x/100-xi))[ kJ/m3]

(for

t=t2

t=2000

1.

670

A

"(fork: lto6stepl)
A =1+0.1(k-1)

=1to 100 step 1)

t2=t new(A ,t)
break 1t2-1!<0.1

Pl

={2262, 2131, 2019, 1921, 1830, 1750}

{

}

2200

2000

1800

0.9

1

11 12

13 14 15




P V

k=1.4
R= 2, =1 0.2872[ kI/KgK]
= , — 1.0050[ kJ/kgK]
0.7171[ kd/kgK]
v= 2, =3
V,= ) =1
B . 800[ cm”]
- 2, B 0.1[ MPa]
T,= , =3 400[ K]
V2= 9 =4 45[ Cm3]
3[kJ]
Qy5= 2 3 =5
P V
PV, 0.1[ MPa] x 800[ cm’]
M= - =0.0006964[ kg]

RT,  0.2872[ kJ K™ kg™ x 400[ K]

T1VII'1=T2V|;'1

P, VX=P, V5
Qys=MC,(T,-T))

Qs

v\ 800[ cm°]
T,=T, v, =400[ K] x —45[ -

A ‘ 800[ cm”]
P,=P, V_2 =0.1[ MPa] x m

3[ k]

T +T,=

3:
MC,

0.0006964[ kg] x 1.005[ k] K™ kg™']

y o, 5551K]
= = X
37T, "2 1265[ K]

V=V,

Vv
P,=P, (V—S) =5.62[ MPa] x
4

V3
T,=T, v
4

800[ cm’]
k-1

=5551[ K] x (
800[ cm’]

+1265[ K] =5551[ K]
45[ cms] =197 cm3]
‘ ( 197[ cm?]

197[ cms]

) =1265[ K]

1.4
) =5.62[ MPa]

1.4
) =0.79[ MPa]

) =3169[ K]




n,=1430rpm M, =20N-m  i=2.8  J,=0.04kgm’
v=lm/s  #,=200h""  J,=0.5kgm’  m=800kg
M=50N-m  p=0.1 d=125mm  d=80mm

W 1o="1,=1508 "

2
A v , 0.5kg m’ 1m/s )
J =t tm =0.04kg m"+————+800kgx =0.14kg m
i W 2.8 150s™*
J3
J W, 0.14kg m*x 150s™" 07 T
= = =0./s
1z
MS
2 1505’
J  wigMs 0.14kg m°x (150s™) x 50N m 265N
= = = m
Wy 2(Ms-M,) 2x (50N m-20N m)
P=W2,=2625N mx 200h '=146W
LS (di—di2> 3.14x% ((125mm)2—(80mm)2> 5
Ag= = =72.4cm
5 4 4
_ 2
P, 146W . g =0.3W/cm
2= = =0.
Agq 72.4cm*x 0.3W/cm’
X
[Even( x )
ZL:Z+1:8+1:9 Z:Even(Z) a= [X]
b=divmod(a,2)
{c:a b,=0
1 1 coand
7= (drd) =7 x (125mm+80mm)=5.125cm S €
M 50N m ,
p =16.8N/cm

Ag2H Ty 72 .4cm®x 8% 0.1x% 5.125cm
-1-



My =My=M3=1My=M5=Mg=M m=Data, M=Data, , =8
£ =Data, , L=Data, , r=Data,; G=Data, ¢ J,=Data, ;
Data
m 7.02kg
<~ L/ M| 1522.5kg
' £ 17cm
i L 25cm
| T 8cm
i G.83x 10'N/cm’
mq ! 4
: : : : : : | I 201cm
i i i i i i | -
: : : : : : ; W 1065.8s7"
g as a, . T dﬁ—l 5|9cm
’ %2 a, i
GJ, (8.3% 10°) N/em?x 201cm’ ;
=, = , =2.607x 10°'N
r (8cm)
=24 +L=2X% 17cm+25cm:59cm
| K 6m+M «/ 2.607x 107N 6x 7.02kgr1522.5kg o
X = S
Wi\ Ty emm 59¢m 6x 7.02kgx 1522.5kg
w =Data, W, a
a, 0 i E
. (@)
0
_ W
as=1.0cm =t m
= w e_w_ilim —278 (fork=25 t60 lstep-1)
0.1s Q=0 -C 2 a,
n=k+1
§ c ‘ng
(fork=1tonstepl) LK
2 6
(we) ay=01=C 2 O,
break R/IN 0 . n=t
W =w ,-0.1s™" R=w (HZ:lanmmoM)
w, rreturn
w =1065.7s™" R=754N a,=-0.0199064cm

a={0.310896cm, 0.519677cm, 0.70144cm, 0.846736cm, 0.948011cm, 1cm}
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Sheetl
XL X2 [ X3 [ X4 [ X5 [ X6 | X7 | X8 | X9 [ X10][Mear[Sigma Mean[Sigma
Y1 [3.954.64]3.81] 3.40[ 3.80| 3.57| 3.35 4.02] 3.50| 3.74 3.778] 0.377
Y2 [3.27]3.22|4.16( 3.15( 4.03[ 4.00] 3.74[ 3.99 3.72[ 3.71 3.699| 0.367
mean 3.739| 0.372
I
N=20 | N=20
MIN(A)= ! MIN(A)=3.15
MAX(A)= | MAX(A)=4.64
R=MAX(A)-MIN(A)= : R=MAX(A)-MIN(A)=1.49
K=7 ! K=7
H=R/K= ! H=R/K=0.213
I
f(pcs) u uf ! f(pcs) u uf
01X | 01x| 3.5 3.36 4
02X | 02x| 3.36] 3.58 3
03X ' 03x| 3.58] 3.79 4
04X ! 04x| 3.79] 4.00 5
05X I 05x|  4.00] 4.22 3
06X i 06x| 4.22] 4.43 0
07X ' 07X| 4.43] 464 1
08X | 08X
09X | 09X
TOTAL i TOTAL 20
I
f ' f
01X | OLX [
02X | 02| ***
OSX i OSX *kkk
04X ' 04X
05X | O5X[
06X | 06X
07X i 07X
SL=3 E SL=3
x=Sheetlpaaindexc2,2+Dataindexr=3: 7 39 i x=Sheetl pangexc2, 2+ Dataindexr =37 39
cyzsheetlDatalnde><C+3,2+DatalndexF%:o'372 i GzSheEtlDatalndexC+3,2+Data|ndexR=o'372
xSL 3.739-3 i x-SL _ 3.739-3
Cpk= 30  3x0.372 i Cpk= 3c  3x0.372 =0.662
1 { ) } i L { ) }
f(x)= el 2 (= el 2
N2t o . N2t o
1.2
1 —
08
06 -

04
02

.8 2| 22 24 26 28 3 32 34 36 38 4 42 44 46 48 5 52 54 56
=02

-1-



DatalndexC=table_column(Sheetl)-4 DatalndexR=2

table row(Sheet1)=8 table_column(Sheetl)=14
DatalndexC=10 DatalndexR=2
Ay 2070

(fork=1to 10 stepl)
A=Sheetl,,, ,

==( fork=11to 20 step 1)
AFSheetl,,; 1q5

A={3.95, 4.64, 3.81, 3.4, 3.8, 357, 3.35,4.02, 35, 3.74, 3.27, 3.22, 416, 3.15, 4.03, 4, 3.74, 3.99, 3.72, 3.71}

[T( for k = 2 to 2+DatalndexR-1 step 1)
DatalndexC

Sheetl, .,
i=1 ’
DatalndexC+2 k™ DatalndexC
DatalndexC

Sheetl Calculation of Mean

2
< (Sheetl,,; -Sheetly, . ngexcs2)

Calculation of Sigma

Shee.'::I'Datalndexc+3,k: DatalndexC-1
a DatalndexR

Z Sheetlp.tangexcr2,24i-1
DatalndexC+2,2+Data|ndexR: DatalndexR
DatalndexR

Sheetl

Sheetl Mean of Mean

= DatalndexC+3,2+i-1

DatalndexC+3,2+DataIndexR: DatalndexR

Sheetl

Mean of Sigma

"( for k=1 to 7 step 1) for making and data
Sheet2, ,,,=3.15+(k-1)H
Sheet2, ,,,=3.15+kH

X,=0 X,=0 X3=0 X,=0 X:=0 X=0 X,=0
T(fork=1to20step1)

[x,=x,;+1 A.<Sheet2,,

X,;=X,*1 Sheet2,,<A <Sheet2, ,

X3=X;+1 Sheet2, ;<A ,<Sheet2,,

X,=X,+1 Sheet2,,<A<Sheet2,; Count each areas

Xs=Xs+1 Sheet2, ;<A ,<Sheet2,

Xs=Xgt1 Sheet2, <A ,<Sheet2,,

(X;=X;+1 Sheet2,,<A,<Sheet2,

Sheet2, ,=x, Set f

Sheet2, ;=x,

Sheet2, ,=x,

Sheet2, 5=X,

Sheet2, ;=x;

Sheet2, ;=x;

Sheet2, ¢=x,

Sheet3, ,=!x,***"! Draw Histgram

Sheet3, ,=1x,* "

|
Sheet3, ,=1x;***"!
Sheet3, g=1x,* "
Sheet3, ;= 1xg* "
Sheet3, ;= 1xg* ™"
Sheet3, g=1x,*"™"!

__Sheet24'11:x1+x2+x3+x4+x5+x6+x7




3

table specl

0
30

Sheet,n
1 204 1 204 43 24 |var ab,.cd
2l 241 2 241 65 2 |b, =0
3 239 3 239 64 3 |f[(fork=1tonstepl)
4 210 4 2100 47 19 |||p =Sheet
5 220 5 2200 59 17 Eo18C 2 ket
208 4205 ad 2 a=message_dialog(" o " 1)
7206 1 206 a4 o1 |[StoP &2
g 185 g 185 324 29 =average(b)
9 193 o 103 37 271 |a=message dialog(" " 1)
100 234 10 234 61 6 |[stop a=2
11 218 11 218 514 15 |c=stdevp(h)
12 219 12 219 52 13 (fork=1ton step 1)
13 198 13 108 40 25 -
14 188 14 188 34 2§ ||Sheet,,,,= x 10+50
15 213 15 213 48 18 |* dialoa( . -
16 238 16 238 63 4 | message dialog( )
171 221 171 221 53 11] |stop a=2
18 182 18 1820  3d 3g |d=sort(b)
19 229 19 229 58 9 |[|(fork=1tonstepl)
200 208 20 208 45 20 :
forj=1tonstep 1
21 219 2 219 54 13 ||[ g HSER ) .
20 231 2 231 59 7 { i
23 237 23 237 62 5 a=message_dialog(" 1)
24 215 24 215 500 17 |stop a=2
25 224 250 224 55 10 (b)
26] 217 260 2171 51 16
27 198 270 198 40 25
28] 205 28 205 44 22
29 231 29 2311 59 7
300 245 30 2458 67 1
_ »
var a,c,p,s,t,u
246 250 0 command_interface_table(table_specl)
=i ni
241 245 2 P! table specl
236 240 3 L 16: |" o ! table_interface
231 235 3 250 2,16 function| create
226 230 1 =246
221 225 2 [C for k = 1 to 14 step 1) 16
216 220 5 U=S>+" "> 2
211 215 2 SR (X) 40
s=s-5
206 210 3 |t=t-5 ) 1000
201 205 3 p=table_row( ) (X) 2| (0): D): @
196 200 2 ( for k = 2 to p-1 step 1) () 1 0:  @): @
191 195 1 2,k70 ID 4 ID
186 190 1 (for k =1tonstep 1)
181 185 > c=ceil ((bk—l?O)/S)
30 18 2,p-c” 2,p—c+1
a=message_dialog(" ",0)




0.5
x=random(400)
y=random(400)
(XY} 0 0.5 1
2D- - - X,y
{x,y}=

shift + - D

({x,y} £ {{0.951577, 0.778708, 0.127214, 0.83791, 0.196165, 0.510497, 0.312305, 0.729214, 0
.363737, 0.117298, 0.957105, 0.937156, 0.283817, 0.164935, 0.70712, 0.365499, 0.5728, 0.5

47227, 0.948592, 0.146527, 0.872328, 0.805772, 0.222417, 0.379909, 0.678429, 0.871611, O
.743143, 0.51075, 0.415604, 0.537317, 0.602081, 0.00437562, 0.70092, 0.746601, 0.243124,
0.800995, 0.565997, 0.0789978, 0.439773, 0.171895, 0.119947, 0.98666, 0.75094, 0.808728
, 0.999788, 0.872796, 0.665552, 0.08387, 0.605974, 0.598332, 0.0346306, 0.167942, 0.1427
21, 0.221086, 0.0546622, 0.332267, 0.822525, 0.207656, 0.032359, 0.280315, 0.688442, 0.8
46177, 0.719256, 0.558508, 0.672099, 0.016442, 0.6868, 0.958309, 0.600331, 0.505657, 0.2
29871, 0.945888, 0.554428, 0.474269, 0.626847, 0.757819, 0.486357, 0.891237, 0.170948, 0
.988296, 0.0157844, 0.34834, 0.160762, 0.749083, 0.854656, 0.754202, 0.614158, 0.448047,
0.6117, 0.203867, 0.562436, 0.705982, 0.00316607, 0.084244, 0.0433448, 0.287185, 0.5461
79, 0.263248, 0.998376, 0.829216, 0.896898, 0.634059, 0.859349, 0.579678, 0.637383, 0.26
3063, 0.312498, 0.308614, 0.430986, 0.990723, 0.454773, 0.688797, 0.683464, 0.841192, 0.

696021} })



1, 1_1 L
oy ze=-f ? Z
_l:i :_': 2 f
B_y a *=a Y 3 7
. Y- 2 F
f >0; 7<0)
a=-o a=f B '=0 . :
! . . Y F F
2f' 27" -1 T\ y
1 ! ! ; . .
_f +00 —OO} £ | f / f 2
a a
_f -00 —00
1 ! !
0 0 +1 \
£'<0; 750) y T " F
" -
4 _
a=-00 —p' : 2 f\‘
a = B =0 : /j
! ! ! ¢ 1
a
0 0 +1
D: m '=dpt
1 1 1 1
7 : D=(n-1) (r——r—) n
1 2 LT,
d 2 3 f1f2 d:
Firfid D=D,+D,-dD,D,
1 £=0.1m a=-0.15m y=5cm
a a
b
1 a r— a=-0.15m _ af _ (-0.15)m>=0.1m _
= f=0.1m = gir  (-0.15)m+0.1m O3
' . a 0.3m
y=5em X _2 2 = 10cm
Yo a y=__Y (-0.15)m x5cm=-10cm
2 20cm 30cm
n=1.6
2 r,=20cm 7r,=-30cm n=1.6
_ 1 1)\_ 1 1 —em-l 411 _
D—(n—l)(rl—rz)—(l.e-l)x( 20cm ~ (~30)cm )—Sm f—D— — =0.2m
3 2 f =-15cm
—em-l _
3 D,=5m fr=-15em 11

2_]72': (-15)cm

D=D,+D,=5m "+(-6.67)m '=-1.67m™
L1 1
f=F=——""—7=-0.60m

D (-1.67)m™
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svd

400nm 700nm 40nm

1000

Step 1
Data

m=table row(Data)-1
n=table_column(Data)-1

i=1..m j=1..n

A0

A, Data;,, ;,,/1000
Data

Data

Step
w=svd(A, U, V) u=0

A=UWV'

Woow, w,y, ..., W

n
Ap =2 WU, Vi

100

\Y

0

)
D
=
5

400

440

480

520

560

600

640

680

307,

470

456

422

517

862

891

893

201

226

214

205

234

508

532

530

72

73

69

58

56

279

317

312

53

53

44

35

37

296

489

492

236

309

332

445

568

817

845

847

102

178

273

507,

525

523

37

38

48

140

243

590

643

649

22

22

24

47

98

233

231

222

OO IN[D|AIBD|WIN]|E

128

147

175

489

671

687

697

697

35

45

86

407,

734

739

736

757

42

45

58

235

338

367

349

348

134

149

140

133

109

153

266

650

680

539

480

527

45

55

86

320

367

248

190

217,

27

28

34

137

146

99

74

81

245

388

580

758

632

393

298

341

109

162

305

445

323

144

93

114

60

112

223

125

39

25

29

15

17

28

66

29

11

10

303

548

755

772

607

365

271

305

160

267,

451

452

276

122

80

96

63

109

246

228

92

35

24

27

70

61

20

243

442

604

477

222

135

136

153

114

202

322

219

69

37

37

41

30

52

121

55

14

323

569

550

376

244

206

247

282

199

301

286

165

90

70

86

102

121

130

13

16

321

518

424

269

230

376

385

646

208

261

194

103

83

167

171

337

353

603

558

484

460

826

874

876

265

336

285

213

190

524

572

697

145

150

112

70

58

247

279

371

177

162

119

58

45

193

544

588




g
e)
3
Ap,q‘rglsp,rvq,r
V
V
-0.168225
-0.250212
-0.279051
v, -0.329634
*1-0.342307
-0.429556
-0.443182
—0.473776/
-1
Vii=-Vj1
A =
\/
A V*,l V*,z V*’3
400| 0.168| -0.177| 0.305
440( 0.250]| -0.365| 0.458
480 0.279| -0.538| 0.243
520( 0.330] -0.430] -0.414
560| 0.342(-0.122( -0.622
600| 0.430( 0.268( -0.108
640( 0.443] 0.385| 0.115
680 0.474| 0.356] 0.234

n r W f
tr=Yw,  f=—x 100 :
r=1 tr 1| 5.3822] 58.41] 58.41
gj:O g:if 2| 1.8225 19.78 78.19
(= 3| 1.1106 12.05( 90.24
4 0.2875 3.12[ 93.36
3 5 0.2665 2.89 96.25
6| 0.1572 1.71] 97.96
7| 0.1125 1.22] 99.18
S, =& U,
P, P, 8/ 0.0757| 0.82 100.00
S
\% 3
0.177016 -0.305183
0.364690 -0.458014
0.537935 -0.243431
V. A 0.429746 V. A 0.413687
“1 0.121717 ®1 0.621933
-0.268414 0.108389
-0.384779 -0.114790
—0.355943/ -0.234445
Vj’2:—Vj,2 Vj’3:—Vj’3
A j:400+40*(j—1)
400 480", 560 610
-0.2F~_ S
N 4 — Vv 1
-0.4f \\\ 1%
\‘/// N —_— V 2
-0.61 ---- vy 3
A
0.6r
o 480\ SN 610 1
\ X
-0.2t N
~——— — 2
-0.4r o
-0.61




n=25 X = 8.493 v, = 0.1225
a =0.95 m
. 1+ v _ _
w = normmV( 20( ) A/ —np- [x - w, X +w] =[8.356, 8.630]
8.356
8.493; ¢,
X vV ooy (1)
n
X -m
Z Z N(,1 Z= 2
0, 1) v @
Pz Z 2)=a Z
PZ z)=P(Z 0+P0O Z 2z)= 1.2 z= norminv( L+a )
2 2 2
-z 2 20 (2 X-2/V m  X+z/V (3

3) (1) Y-zﬁ m §+24/¥

X X
1.00 0.72 0.62 1 0.9039
R={0.72 1.00 0.55 aCalc=10.8747
0.62 0.55 1.00 0.8249

n=3 V=0
- ] 2 0.8802
1=1..n ai—l aCalc= 0.8306
R*=R a=create_matrix(a) 0.7470
i 3 0.8785
aCalc aCalc=10.8155
R =a? 0.7147
W:eigen(Ra, V) ......................
n
Viem-Vig 2 V<0 0.9008
_ aCalc=10.

a= WlVi,l 0.7993
0.6883

_retu na



3 P(x)=a, +ac+ac +ar’
Sheetl
x,Y Xy 20 y
0 0
0.1/ 0.1002
x=Sheetl.x y=Sheetl.y 0.2/ 0.2013
0.3/ 0.3045
W on o, g ; 0.5 0.5211
nooLx LA 2K 2Yi 0.6 0.6367
n n n n n
PIETRDIE S E I I b W 7Y 0.710.7586
I;Ll I;ll I;Ll I;Ll a2 — I;Ll 08 08881
2 3 4 3 2
rx xx zx 2x | \g | |2 0y) 0.9 1.0265
n n n n n 1 1.1752
DILDIEARD WD W > (Y
=1 i=1 =1 =1 =1
-1
noo2x XX XX 2 Y,
i=1 i=1 i=1 i=1
a) |&.,. & 2 & 3 & al [&, | /-00001434
a,| _ iglxl i;lx' iglx' i;lx' igl(x'y') _| 1.0045726
a.| |z 2 3 N 42 N g5 n 9 ~—1-0.0201107
aj ;195 i iglx i i;lx i iglx i gl(x Y 0.1906954
ig“lxi igllxi iz:lxi igllxi igll(:xi yl)
P(xx)=-0.0001434+1.00457260:-0.0201107x%+0.1906954¢c
{ Sheetl.x , Sheetl.y }
6t 1.2 1.2+
1t i
3 0.8 0.8
; i ‘ 0.6¢ 0.6+
4 2 0 2 4
0.4r 0.4r
| 0.2 0.2
-6 6 03 06 09 12 0102040608 1 1.2




1)

q (X33 X -es Xg) r (Xps Xy, oy X)) Q=T (Xpots Xpags =0 Xg
y=aX; taxX, +..+ax Z=byXpy t DX, + o+ by X
y z M.z ay, Ay« 8 Dy by By
2 r g-r
(2)
q (X]_’ X2’ ’ Xq) N
z g% z
s o[ZujZe
2012y
s=q-r 2, MXr X, rxs ¥, sxrx, SXs
T=31% 1,5 555 5 Ta=\a
a by
% " Ta=\a 1
a=l b= ) b=—=3, ,a
' ] { aTZ 113 -1 /\/)\_ 22= 21
al’ bS
3) Xy Xzi X3 X4
x| 26.76 11.67, 16.91 6.38
X 1167 881 1057 469
1 2 X;| 16.91 10.57} 32.45 17.39
1 2 X, 6.38 4.69: 17.39 15.07
2676 11.67)16.91 6.38 . (2676 1167 (1691 6.38
s 11.67 8.81; 10.57 4.69 17\11.67 8.81 12710.57 4.69
16.91 10.57! 32.45 17.39 s :<16.91 10.57) :(32.45 17.39)
6.38 4.69 | 17.39 15.07 7 638 4.69 * \17.39 15.07
T=3 1% 1,2 3% 5, 1-(0.191532 0.104693
0.423092 0.270868
T
det(T-A E)=0 1 0)
01
A =0.0170312423897269 A =0.445367788744155
A NN =0.6674
a A=T-A E Au=0
2
) ) ) ) 4=[-0.381284169721717
U0 V=0 wEsvd(AUY) - uEV., ~0.924457885422381
u=-u 1 1 .
a=————u a-(0-0860) b= 2 2% 212 _(0.2296
AU LU 0.2086 VA -0.1131

y = a,;X,+a,X, = 0.0860x,+0.2086x,
Z = b,x;tb,x, = 0.2296x,-0.1131x,

0.6674

)

|



1,000 10 3%

=10,000,000
=10 0 0 0 0l10, 000,000
11,000,000 300,000 1,300,000 9,000,000
211,000,000 270,000 1,270,000 8,000,000
3/ 1,000,000 240,000 1,240,000 7,000,000
4 1,000,000 210,000 1,210,000 6,000,000
= 5 1,000,000 180,000 1,180,000 5,000,000
6 1,000,000 150,000 1,150,000 4,000,000
~ 7/ 1,000,000 120,000 1,120,000 3,000,000
= X {1+( - +1)>< —}
100 8/ 1,000,000 90,000 1,090,000 2,000,000
9 1,000,000 60,000 1,060,000 1,000,000
- x ( - +1)x 10] 1,000,000 30,000 1,030,000 0
100 10,000,000, 650,000[11, 650,000
= - X
= - X
= X
¥14,000 ¥10,000 10 8
=10000 =14000 =10 =8
=4000
=2,800
=800
=1- A —————
¥2,000,000 ¥200,000 30
=2,000,000
=200,000 }
=30
=60,000
=0.074
= X =2,000,000x 0.074=148,000
=( - )x =(2,000,000-148,000)x 0.074=137,048
:( - - )X

=(2,000,000-137,048-148,000)x 0.074=126,906



%

12

200 6 125
%
24 113 2024960 0.62
1.2% 10*
) 3,2
1
12 2,2
- 100
= X (l+
3.2 X 2.2
32" )
40" X x 100
PrY 1,2

1,0)



1000 4 20 2001
2020 1 58226 2372 13876942 653438
2| 58420 2178 13937540| 595018
3 58615 1983| 13998138 536403
4 58810 1788| 14058736 477593
5 59006 1592| 14119334 418587
6 59203 1395| 14179932 359384
7 59400 1198| 14240530 299984
8 59598 1000{ 14301128 240386
9 59797 801| 14361726 180589
10 59996 602| 14422324 120593
11 60196 402| 14482922 60397
12 60397 201| 14543520 0
= L »* 10000 = S % 12
= X
1-(1+ )"
1..600-1 1..600-1
( for k =1 to -1 step 1)
k+1™ -( KX )
k1™ k k+1
= X (1+ )
= 1,2 4,2
"( for k =1 to 12 step 1 )
B =12x +k
’ 2. k417K
3,k+1”
4,k+1” - 3,k+1
5, k1™ x ( -1+
_ 6.k+1=0
2. k17K
3,k+1” +1
4,k+1” - 3,k+1
5,k+1™ x
__\_ 6,k+1™ +1

2,2

100
=60598

=60397

=60598



- —(+ + +
) 12} ( )
- -( - - )
= 1- - }
) {( ) 12
-( + - )+
—_ + - -
1- - —
* 12
X + = x (1- )-
= 1_
=1,200 =30 =1.8
=0.6 =200 =0.1
=384 =10 =2.5
=20 =300
=70

=1,200x {1-(1.8+0.1)x 1—12} +200+10+20=1,240
=1,200x {0.6+(2.5-1.8-0.1)x 1—12} +(384+20)+30-70-(300-200-10)=1,054

=1,200x {(1—0.6)—2.5x 1—12} ~(384+30-70)+300=186

_384+30-70-300

1
1-0.6-2.5% 12

=230 =1,200x 0.6+384=1,104

384

~1,200x (1-0.6)-384=96 =106 %0




xcel

12 Excel
ExcelLink
Excel 1
excel_interface|parameter
(1)Excel function|  style3
style3 sheet name| "Sheet1"
5 excel top cell "Al"
excel last cell "E8"
3 full path name filel| Excel
calking table 9
folder="C:¥Documents and Settings¥akiyoshi¥My Documents¥excely~  |calking top cell (1,1
_ calking last cell (5,8)
filel=folder+" 9 xls" «
9
(2) 9 (hPa) ()] ™ (mm)
A
B
( )
2
© ( ) :
(a) F
1 G
(b)
command_interface_table( 1) 9
1 (hPa) () (%) (mm)
A 1016.5 12.3 38.2 265.4
B 1012.4 15.5 46.3 299.3
Excel Excel 1012.6 14.9 48.2 293.5
1024.5 18.2 40.0 278.4
Excel
E 1014.9 18.2 54.3 304.9
F 1025.5 20.0 47.2 262.2
G 1014.4 19.9 57.3 287.5




table spec

ri= (

r2=create_table(table_spec)

1",9,2,7,50,1700 )

table spec

(X)

50

v)

1700

12.3 15.5 14.9

18.2 18.2 20

19.9

r3= ( ,

Excel

function defaultl

full path name

graph Excel VBA

3

Excel

Excel

table_spec, ;=X
table_spec, 5=y
return 1

P=<<My s>

1k,1_|
1k‘2:M

"t

=search_name(
table_spec, ,=| name|
table_spec, ;=row
table_spec, ,=col

(item, M)

(fork=1to7step1l)

item,k+1

(name, m ,row,col,x,y)

>>+u n

)

excel_interface

parameter

function

defaultl

sheet name "

excel top cell

"Al"

"AQ"

excel last cell

||G2n

full path name

file2

calking table

1

calking top cell

(1.1)

1,1

calking last cell

(7.2)

4,2

graph(xI3DColumn

file2=folder+"

9 .xls"

excel_interface

function

sheet name| "

Excel



9 excel_interface parameter
function defaultl
1017.3 17.0 47.4 284.5 sheet name
30.0 8.2 47.8 270.7 excel top cell ALY A"
5.1 2.6 6.4 15.2 excel last cell "4
full path name file2
9
(1.,1) 1,1
(5,4) 4,2

graph xI3DColumn

a={0,0,0,0,0,0,0}

(fork=2to5stepl) (fork=2to5stepl) (fork=2to5stepl)
|[(form=1to7step1) |[(form=1to7step1) |[(form=1to7step1)
am= 9 k,m+1 am= 9 k,m+1 am= 9 k,m+1
9 x2=average(a) 9 K3=var(a) 9 w4=Stdevp(a)
9
Excel
3
o
Excel VBA
VBA

Excel



Math ML

SMPLX Martini
Expression

3 Expression

Main

-b+y/ b*4ac = a

2a b+i
C

Expression=)"4ac", "A/x+1 +5", " " XEXC+H1=0",

2 1445 -b+a/ b*fdac
"x+xT +1=0" "A/ x+a[1+y +5", " 5 i !
2a+ ?abc
Main(10,800, Expression, ) Main(x,y, es)
mIM=Translate _Main( es)
MathML_ Print( x,y,mIM )

MathML_ Print( x,y,ml)
<Lnr:gwit> disp_array=IndentMathML( x,y,ml )
<m(r:lovv> (fork =1 to disp_array,-1 step 1)
<mi>x</mi> a=disp_array, .,
<mo>+</mo> print({"display",a,,a,,a})
<mn>1</mn> -

</mrow>

</msqrt>

<mo>+</mo>
<mn>5</mn>

</mrow>



MathML

[Translate_ Main(es ) char_node=0

rename fract_node=1
local={0,0,0,0} suffix_node=2
create_stack(local) -

tkna={0,0,0,0} pow_node=3

tkind=0 sqrt_node=5
prekind=0

step=0

daT={0,0,0,0} mIOp( ¢ )="<mo><c></mo>"
mix=""2" mINum( ¢ )="<mn><c></mn>"
miT1=""? mlld( ¢ )="<mi><c></mi>"
mIM=1( es,tkna)

rreturn mIM

'rename

A=search_name("decompose_string")
ISNumC=search_name("IsNumberChar")
IsAlphaC=search_name("IsAlphabetChar")
IsOpC=search_name("IsOperatorChar")

7( es,tkna)
tkna_init
token(stringToarray( es))

tknag
mIT3= kZ_2 Mo( tkna,,daT)

returmn {"<mrow><<mIT3 ></mrow>"  tkna,>2

I "<mIT3>"

'string Toarray( es ) 'get_tkind( ds)
€3 |es)=0 daT1=A(ds)

(fork=1to |les| step 1) 1 daTl,=0AlsNumC(daT1l,)
l]eak:esk return {2 daT1,=0xlsAlphaC(daTl,)
return ea 0
'tkna_init lisAtom( ds )
tkna, ,=0 daT2=A(ds,)
create_stack(tkna) return 1 daT2,=0Al/ds||=1

return O

'tracel(n k)
nRtn=message_dialog(n+" <k> " "tkind=<tkind>",1)
stop nNRtn=2




mlAtom( da)
mINum(da,) IsNumC((day,),)

return {mlid( da, ) IsAlphaC((da,) ,) return
miOp(da,) IsOpC((da,),)

MathML
miSqrt(ds)
mIT=t( ds,tkna)
return "<msqgrt><<miT></msqrt>"

MathML

'mlIFract( dsx,dsy ,mIT1)

mIT1=t( dsx,tkna)

mIT2=t( dsy,tkna )

return "<mfrac><<mIT1> <mlT2> </mfrac>"

MathML

'mISupFx( dsx,dsy,mix )

mix=Mo(dsx,daT)

mly=Mo(dsy,daT)

return "<msup><mlx> <mly></msup>"

'Mo( ds,daT )

molecule

daT=A(ds)

mlAtom( daT ) daT,=char_node
mISupFx( daT,,daT,;mIx) daT,=pow_node

retum mlFract( daT,,daT, ,mIT1) daT,=fract_node
miSqrt(daT,) daT,=sqrt_node

'token( ea)

tkind=0

prekind=0

[(fork=1to ||eal| step 1)

tkind=get_tkind( ea, )

tracel("token" k)

(tknay ,, =tknay . +eay tkind=1Aprekind=1
[push(tkna,"&invisibletimes;") tkind=2Aprekind=1
push(tkna,ea,)

push(tkna,"&invisibletimes;") tkind=2prekind=2
[push(tkna,eak)

\Push(tkna,ea,)

[prekind=1 tkind=1

{prekind=2 tkind=2

| {prekind=0

P —




'IndentMathML( x,y,s1) initial

initial mrow_stk={0,0,0,0}
loop_limit=||s1]| debug_stk={0,0,0,0}
s=sl disp={0,0,0,0}
XPos=x create_stack( mrow_stk)
yPos=y create_stack( debug_stk)
T(fork=1to loop_limit step 1) create_stack( disp )

tag = get_tag_stringMain(k) left=1

push(debug_stk,{"pointl","k=" k,left,right}) right=0

break tag=""?" line="2"

fbegin_tag tag = "<mrow>"
end_tag tag ="</mrow>"
begin_tag tag ="<msup>"
end tag tag ="</msup>"
begin._mi tag ="<mi>"
begin._mn tag = "<mn>"
begin_mo tag ="<mo>"
begin_tag tag ="<mfrac>"
end_tag tag ="</mfrac>"
begin _tag tag ="<msqrt>"
\end_tag tag ="</msqrt>"

'begin_mi

yPos = yPos+20
line=get_sandwich
push(disp,{xPos,yPos,line})
line="2"

'begin_mo

yPos = yPos+20
sub=get_sandwich
push(disp,{xPos,yPos,sub})

return disp  mrow_stk,=1 'begin_mn
message_dialog("MathML"," ",1) NewlndentPos

return disp sub=get_sandwich
'get_sandwich line=line+sub _
line_sub=tag push(dlsp,{xPos,yPos,Ilne})
sub=get_contents line="7"
line_sub=line_sub+sub 'NewlndentPos 'get_tag_string

tag = get_tag_string xP0s=xP0s+10 sub="?"
line_sub=line_sub+tag yPos = yPos+20 return sub  left>||s||
rreturn line_sub - left=find( s,left,"<" )
i i return sub left=0
get_contents get_tag_stringMain(k) right=find( s,left,">")
sub="?" tag = get_tag_string return sub left=0
return sub - s, ="<" v left [[sll |jeft = right+1 SUD=S¢4 right
left_n=find( s left,"<" ) trace("stringMain" k) return sub

SUD=Set et n-1 return tag

left=left_n i

rreturn sub

begin tag end_tag

NewlndentPos yPos = yPos+20
push(mrow_stk,xPos) xPos=pop(mrow_stk)
push(disp,{xPos,yPos,tag}) push(disp {xPos,yPos,tag})
'trace( N ,K)

nRtn=message_didog(n+" <k> " 'left=<left>>, right=<right>>, tag=<tag>",1)

stop  nRtn=2
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LaTeX

sin cos log

[ =

dx

¥newpage Tex

i i
LaTeX
. 2T 2T
sin 4+cos 4—1
dx T xlog,2
i+3 7l
1 3 17 3 196909
—Xx | 3+3x X - +6 =
3 2 13 12 29172
4+€

2n[3+5n/7 XA/ 120+4/256 =577/ 124+2y/3

LaTex

¥[ ¥sin N2}¥displaystyle ¥frac{¥pi {4}+¥cos "2}¥displaystyle ¥frac{¥pi {4}=1 ¥]

¥[ ¥displaystyle ¥frac{d{dx}¥log {2}x=¥displaystyle ¥frac{1}{x¥log {¥epsilon }2} ¥]

¥[ ¥displaystyle ¥frac{1}{3}¥times Yleft[3+3¥times Yleft¥{¥displaystyle ¥frac{3{4+¥displaystyle ¥frac{2}{5}}
Ytimes Yleft(Y¥displaystyle ¥frac{¥displaystyle ¥frac{3}{17}+3}{13}-¥displaystyle ¥frac{7¥displaystyle ¥frac{
1X3{12}¥right)+6¥right¥}¥right]=Ydisplaystyle ¥frac{196909}29172} ¥]

¥[ 2¥sqrt{3}+5¥sqrt{7}¥times ¥sqrt[3{120+¥sqrt[4]{256}¥, }=5¥sqrt{7}¥, ¥sqrt[3]{124}+2¥sqrt{3}¥, ¥]



0.7 A5

N~

5 46 657.20 42.36 36.36
215 7 1 e’ sin20°  logl0 | =1368.12 17.22 37.36
915 458.77 40.47 471.25

2 1
6.4 e J xdx
0

A5 25647 87 10

97
4x8+7 logl0 sin10 cos30°
5 3 |=-1247171.15183719
-5375 0 e 2
3 1 2
16000 5 13 ‘ 4 5‘

¥[ 2¥left(
Ybegin{farray{@{¥,}ccc@{¥,}}
5&4&6Y¥Y
5&7 &1 ¥¥
9&1&5
¥end{array}
¥right)¥left(
¥begin{array{@{¥,}ccc@{¥,}}
¥displaystyle ¥frac{1}{2} & 0.7 & ¥sqrt{5}¥, ¥¥
¥epsilon N3} & ¥sin 20N¥circ} & ¥Ylog 10 ¥¥
6.4N2} & ¥epsilon & ¥displaystyle ¥int {0}{1} xdx
¥end{array}
¥right)=¥left(
¥begin{array{@{¥,}ccc@{¥,}}
657.20 & 42.36 & 36.36 ¥¥
368.12 & 17.22 & 37.36 ¥¥
458.77 & 40.47 & 47.25
¥end{array}
¥right) ¥]
¥[ Yleft;
¥begin{array}{cccc}
¥sqrt{5}¥, & 2.5647 & ¥displaystyle ¥frac{87197} & 10 ¥¥
4¥times 8+7 & ¥log 10 & ¥sin 10 & ¥cos 30%{¥circ} ¥¥
-5375 & 0 & ¥epsilon N2} & 2M3} ¥¥
-2-



16000 & ¥sqrt[3]{5}¥, & 13 & Yleft]
¥begin{array}{cc}

1&2Y¥Y

48&5

¥end{array}

¥right]

¥end{array}
¥right}=-1247171.15183719 ¥]

X Y
x+— | y+—

1 VoA =N NN
g CDI=IE S | | g 9expl-2m if/X]dky

© X+ |yt nA mA
[&]:[&]i > 6. 2| Zexp [211 i( X+—1ﬂ
X Nn=-00 M=-00 X \% X Y

[& &]x exp [2n i { (n-1)x +ﬂH didg

¥begin{eqnarray*}

g_{X}(x,y)& =& ¥displaystyle ¥frac{1{XY}¥displaystyle ¥int {x-¥frac{X}{2}}"{x+¥frac{X}{2}} ¥displaystyle
Yint {y-¥frac{Y}2}y+¥frac{YH2}} g(¥hat{x} ,¥hat{y} )¥exp [-2¥pi i¥hat{x} /X]¥,d¥hat{x} ¥,d¥hat{y} ¥¥
& =& ¥displaystyle ¥frac{1}{XY}¥displaystyle ¥sum {n=-¥infty }{¥infty } ¥displaystyle ¥sum {m=-¥inft
y Y¥infty } G {nm}¥displaystyle ¥Yint {x-¥frac{X}{2}}x+¥frac{X}{2}} ¥displaystyle ¥int {y-¥frac{YH2}}y+
¥frac{Y}2}} Yexp ¥Yleft[2¥pi i¥left(¥displaystyle ¥frac{n¥Delta {x}{X}+¥displaystyle ¥frac{m¥Delta {y}X
Y}¥right)¥right]¥¥

& & {} ¥times ¥Yexp Yleft[2¥pi i¥left¥{¥displaystyle ¥frac{(n-1)¥hat{x} {X}+¥displaystyle ¥fracim¥hat{y}
HYHright¥}¥right]¥,d¥hat{x} ¥,d¥hat{y}

¥end{egnarray*}



809974 384627 4146 195.36 2.11

1012261 486053 1862 543.64 2.08
1467824 691569 5677 258.56 2.12
796211 374357 7105 112.06 2.13

¥newline

¥begin{table}[htbp]

¥caption{ }

¥label{ }

¥begin{center}

¥begin{tabular}{cicic|cicici} ¥hline

¥multicolumn{1}{}r} } & ¥multicolumn{1XirX } & ¥multicolumn{1XirX } & ¥multicolumn{1}
r } & ¥multicolumn{1}{;rX } & ¥multicolumn{1};rX } ¥¥ ¥hline
¥multicolumn{1}}rX } & ¥multicolumn{1}{}r;}{{809974} & ¥multicolumn{1}{;r;}{384627} & ¥multicolumn{l
Hiri{4146} & ¥multicolumn{1};r}{195.36} & ¥multicolumn{1}!ri{2.11} ¥¥ ¥hline

¥multicolumn{1};r'} } & ¥multicolumn{1}{{r;}{1012261} & ¥multicolumn{1K;r;{486053} & ¥multicolumn{
1Kiri}{1862} & ¥multicolumn{1}{;ri}{543.64} & ¥multicolumn{1}ir;}2.08} ¥¥ ¥hline

¥multicolumn{1};r'} } & ¥multicolumn{1}{{r;{1467824} & ¥multicolumn{1};r;}{691569} & ¥multicolumn{
1{iri{5677} & ¥multicolumn{1}{;ri}{258.56} & ¥multicolumn{1}ri}2.12} ¥¥ ¥hline

¥multicolumn{1};r'} } & ¥multicolumn{1}{{r}}{796211} & ¥multicolumn{1};ri{374357} & ¥multicolumn{l
Hir{7105} & ¥multicolumn{1}{;ri}{112.06} & ¥multicolumn{1}!ri}{2.13} ¥¥ ¥hline

Yend{tabular}

¥end{center}

Yend{table}
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Traverse

(Clothoid )



Traverse

Z=98° 50" 40" =7,
X=85.439 X=Xp
Y=-59.305 Y=Y,
6 =332° 52' 10"

L=49.716

Z,=MOD[{(z+6 )-180° }+360° ,360° ]=251°42'50"
Xp=X+(C0SZyx L)=69.840

Yo=Y+ (sinZyx L)=-106.510

0

T.11 184° 01" 15" 69.841 |-106.511| T.12
54° 10" 15" 58° 11" 30" 12.667 76.518 | -95.746 | A.34
112° 22" 10" | 350° 33" 40" 7.800 84.212 | -97.025 | A.65
268° 06’ 30" 78° 40" 10" 20.330 88.207 | -77.091 | A.44
200° 10" 30" 98° 50" 40" 18.000 85.439 | -59.305 | A.100
332° 52' 10" | 251° 42" 50" 49.716 69.840 |-106.510| T.12
346° 28" 40" 58° 11" 30" A.34

> = [1260° 00" 00" 108.513 |A x=-0.001A y=0.001




x=-379.747

y=-92.049

z=174° 31' 39"

x+(coszx L)y+(sinzx L)

EC.10 0 -379.747 -92.049

NO.33 | 19.00 | -398.660 -90.237

NO.34 | 39.00 | -418.569 -88.330

NO.35 | 59.00 | -438.478 -86.422

+11.90 | 70.90 | -450.324 -85.287

NO.36 | 79.00 | -458.387 -84.515

NO.37 | 99.00 | -478.296 -82.608

N

3

L

X+(coszx L)

y+(sinzx L)

x+(coszx L)

y+(sinzx L)

x+(coszx L)

y+(sinzx L)




X={-379.747,-372.790,-374.637,-403.935,-449.257,-452.420,-452.795,
-448.362,-451.361,-426.862,-429.109,-400.639,-402.642}

Y={-92.049,-19.431,-17.064,-12.632,-3.353,-2.693,-4.492,-8.939,
-41.047,-43.351,-66.443,-68.952,-89.856}

n=index(X)

1 n-1
A= ‘? {Xl(Yn_Y2)+iz=:2Xi(Yi—l_Yi+1)+Xn(Yn—1_Y1)} ’:4261.873 m

X1 |-379.747/-92.049
K206 |-372.790/-19.431
K205 |-374.637/-17.064
K204 |-403.935/-12.632
K203 |-449.257| -3.353
K60 [|-452.420 -2.693
K61 [-452.799 -4.492
K154 |-448.362 -8.939

X5  |-451.361]-41.047
K212 |-426.862-43.351

X4 |-429.109 -66.443

X3 |-400.639 -68.952

X2 |-402.642/-89.856




P1

X,=-400.000

X,=-240.000

y,=226.000 y,=210.000

z,=200° 00' 00" Zz,=164° 15" 30"

m,=tanz, m,=tanz,

X

_ (27Y1)-Mo(X2=%1)

A x o, =45.057

A y=m;x A x=16.399

X5=X +A x=-354.943
Y3=y,+A y=242.399

@/

P1

P3

P2

T.34

1 Yo 1
-400.000/226.000 200° 00" 00" T.2

z P2

X

Y4

2 Yo
-240.000/210.000

2
164° 15' 30"

P3

X3 Y3
-354.9431242.399

NO.23




@~ )

X,=459.800 X,=469.960

y,=99.990 y,=89.001

A X=X,-%4 A y=y,-y;

%
18

B =tan”

[ B A x>0 Ay>0
180° -p A x<0 A y>0
180° +B A x<0 A y<0
360° -B A x>0 A y<0

5 ={ 0° A x>0 Avy=0
i
> A x=0 Ay>0
T A x<0 Ay=0

\ 1.57 A x=0 A y<0

0 =312°4519"

L=A/ 1A X°1+1A Y1 =14.966

m

X Y,

X

)

1
T.45 [459.800]99.990 | A.123

2
469.960

89.001

14.966

312°45'19"




1=24° 20" 00"

R=100,

1
T.L=Rtan (?) =21.560,

C.L=R1=42.470,

1
S.L=R (sec7—1) =2.298,

1
M=R (1—0053) =2.246,

|
C:2Rsin?:42. 151,

I
=?=12 1000

C=15.00

af C
I.A=sin 1(—

2R

1.A

) x 2=08°36'09"

1P.No 1.A R

S.L

1P.12 P4° 20 00" | 100 | 21.560

42.470

2.298

2.246 | 42.151




V.C.L L=30.000

~
+

+ %) S1=1.14

+ %) §2=-3.5

~
+

IS1-521
200x L

BC 0 0

5.00 0.019

10.00 0.077

13.50 0.141

15.00 0.174

IS1-521
200x L

BC

IS1-521
200x L

BC

I
200% L

BC

V.Cl

V.C2

V.C3

V.C4

1S1-527
200% L
EC
iS1-827
200% L
EC
1S1-52%
200% L
EC
1S1-521
200% L
EC




H=125.117

(* %) $=0.8/100
S5=0.8%
L H+(Sx L) L H+(Sx L) H+(Sx L)
NO.24 0 125.117
NO.25 20.00 [125.277
+3.00 23.00 [125.301
NO.26 40.00 [125.437
NO.27 60.00 [125.597
+6.50 66.50 [125.649
L H+(Sx L) L H+(Sx L) H+(Sx L)




R=100

BCorEC L:{15,35,55}

L

7R

_ {L 1(L)3 1 (L)S}
C=2R12r"6\2r) "120 \ 2R

6 ={04°17'50", 10°01'36", 15°45'23"}

C={14.986, 34.822, 54.309}

1P _No. R STA No. L 0 C
1P_12 100 BC 5 0
NO.15 | 15.00 4°17'50" 14.986
NO.16 | 35.00 [10°01'36"| 34.822
NO.17 | 55.00 [15°45'23"| 54.309

-10 -




10. (Clothoid)

R=200, A=100
A=100 L={14.638,34.638,54.638} (KA )
m
A %
L= R=-={683.153, 288.700, 183.023}
L2 L4 L6 L8 LlO
X=L|1-——+ - —+ - 5 | ={14.638, 34.626, 54.516}
40R® 3456R' 599040R° 175472640R° 7.8033715x 10''x R
y U (1 SIS C, L L )—{0 052, 0.692, 2.714}
6R\" 56R° 3456R" 1612800R° 588349440R° 3.1337349x 10"'x 10x R™ T T

L
T :Zﬁ{:{00°3650”, 03°26'14", 08°33'08"}

LY
o =tan lY:{oo‘)12’17", 01°08'44", 02°51'01"}
A R=Y+Rcost -R={0.013, 0.173, 0.679}

X,=X-Rsint ={7.319, 17.317, 27.299}

T¢=Ycosect ={4.879, 11.550, 18.251}

T,=X-Ycott ={9.759, 23.096, 36.468} r
KA \ | X
S,=V X*+Y’={14.638, 34.632, 54.584} T

-11 -



X,=-352.790,

Y,=-19.831,

X,=-359.747,

¥,=-92.349,

2 2
I-1:/\/ 1 (X-Xo)i +i(Yi-Yo)i =72.851,

Lf«/:(xz-x3):2+:(YZ-Y3):2:48.478m

L3:“/:(Xa'xi):2+:(Ys‘Yi):2:68-57om

X4=-401.639,

¥,=-67.952,

L3

P3

L2

P1

1
A= LitLotLa)LitlarLa)LimLotLe)(Litly-Ls) =1603. 815,

2A
H=T=44 .030,
1
Ll

2AT"=Hx L,=3207.630,2

(L

(H)

(A)

1 72.851

44.030

3207.6303207.630+ 2=1603.815

-12 -
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P2



7 = 2400 x 0.130 = 312 (kg/ )
2 = 50 = 50 ()
3 = wi+twz2 x 0.20 = 72 ()
4 = 150 ()
s = Wi+tW2+W3+W4 = 584 ()
(c ) wo = 0.058 (kg/ )
use 12
@35.0(cm) £=35.0(cm)
(@)
w,=0.058  (kg/crP)
1
M,,. = wa = %><o.058><35.02 =8.83
Mmax 8.88 _
Omaz =" = =Tgog o0
Oma  37.00
= =0.26
7, 140 <1.00k
)
1 1
Quaz =75 Wl =~ X0.058 x35.0 =1.02 (kg)
Q 1.02
Ty = @ % = 150x —-=1.28 (a=1.50)
Tmar 1B 5 <100k
fi  9.00
)
5wi’* 5x0.058x35.0°*
=0.14 <0.30(cm) ok

6 = =
mar - 384EI.  384x5.6x107x0.144



use 48.6¢ -2.4 STKS51

W=W y% = 0.058x35.0=2.03 (kg/cm)
£ = 91.4(cm)
@
1 1 2_ y
My = 2w’ = 5-%2.03<01.47 =1413 (kg cm)
M 1413
Smax = ;ﬂax =%=369 (kg/cmz)
. :
Omaz _ 39 .o <100k
f, 2400
)
1 1
Quax = 3 wh = E x2.03 x91.4 =92.77
92.77
Tmax = @ Qm% =2.0x %253.32
Tmaz _ 5332 00 <100k
s 1300
)
5 wi’ 2.08x91.4*
™OT " 128Kl 128x21x10Px9.32 <030(cm) ok
use 90x 90
W=wW X = 0.058%(68.6+91.4)x1/2=4.64  (kg/cm)
£ = 91.4(cm)
(@
1
Moz = EMZ = %X4.64><91.42 =4845 (kg cm)
M, ... 4845
- - = kg / cn?
Omaz =~ o5 ~2088 (kg/cnf)
Cmax _ 30.88 ~0.38 <100k
fs 105



)
1 1
Qaz =5 Wi =~ X464 X914 =212

(a=1.5)

5 (ka)
Q 212
rmax=a%=l.50>< 81.0:3'93 (kg / cm?)
Tmax _ 3.93 —0.52 < 1.00k
A 7.50
)
— 5w 5x4.64x91.4" o4 <030(cm) ok
™A 384EL,  384x5.6x10°xB47
4
RG4 ( )
1 = 2400 x 0.900 = 2,160 (kg/ )
2 = 50 = 50 ( )
3 = wi+twz x 020 = 442 ()
4 = 150 ()
s = WitW2+W3+W4 = 2802 ()
(c ) wo = 0.280 (kg/
use 12
©20.0(cm) £=20.0(cm)
[©) wy=028  (kg/cmP)
Lot =2 0= K
My =gk = 0.2820.0° =14.00 (kg cm)
M,,. 14.00
- - 58, (kg/en)
Omaz =7 =~ = Tgop 08
Omax 9833 _
7, =120 =0.42 <1.00k



()

1 1
Quax = 2 wl = > x0.28%20.0 =2.80

ani = 1.50x =3.50

Tmax = A 1.20

Smax _ 350 =0.39 <100k

fs 900

5wl 5x0.28%20.0*

5 _ _ =0.07 <0.30(cm) ok
MAx - 384EI.  384x5.6x10%x0.144 e

use 48.6¢ -2.4 STK51
W=wW X = 0.28x20.0=5.60 (kg/cm)

£ = 91.4(cm)

)

1 1 2
= Ewﬁ = 5 X5.6x9L4” =389 (kg cm)

M 3899
Oa =~ 25 = o 1018 (kg/ o)

x

Mm

=—— =0.42 <100k

)

1
Quax = 3 wih = 5 x5.60 x91.4 =256 (kg)

Q 256
Tmax=a%=2-oox 3.48=147 (kg/cmZ)

Tmasx 147 _
—fs =30 =0.11 <1.00k

¢ )
5 wi 5.60x91.4*
max  128EI.  128x2.1x10°x9.32

=0.16 <0.30(cm) ok



use 90x 90
W= g% = 0.28x(68.6+91.4)x1/2=22.40  (kg/cm)
( ) £ =40.0(cm)

(€))
1
M, = wa = %><22.4><4o.02 =4480 (kg cm)
Mmax 4480 —_
Cmax = 7. ~ 1929 =23.22 (kg / cm?)
Omar 2322
- =0.22
7, 105 < 1.0 0k
)
1 1
Qag =5 Wl =~ X224 x40.0 =448 (kg)
Qmax —_
Tpag =@ g = 1.50% m_a.og (kg / cnf) (a=1.5)
Tmax  06.09
T =0.81 < 1.0 0k
)
5wi* 5x22.4x40.0*

_ - =001 <0.30(cm) ok
mAx " 384EL.  384x5.6x10%x1012 em

A=(68.6+91.4)x1/2x40.0x1/2=1600  (c?)
W=w,xA=0.28x1600=448  (kg)

N=2000(kg/ )

w__a8 =0.22 <10 (ok
N 2000 > 0 (ok)
use 105x 105
£=91_4(cm)
@
P=448 (k) a=(91.4-40.0)x1/2=25.7
M,,,,. = Pa = 448x25.7 =11514 (kg cm)
M,,. 11514
Omaz = o ~2983 (kg/en)
G 29.83
- =0.21 <1.00k

f, 140



= 0 i
~ = I \/ —
= = | o261 M 0 200 =

= 0) V4 /\

= o i
= {%i 747 200

%
914 914 914
N B I~ i
) Y / Y
50 2.0
TF 1216DA



w,=((2400%0.15+50)x1.2+150) =642 (kg/n")
RG4 w,=((2400%0,90+50) x 1.2:+150) =2802

4 w,=((2400x0.70+50)x1.2+150) =2226
W 642x(0.467+0.356)+2802x0.200+2226x0.261=1922 (k)

3.5 t 2.0 t

—=——-=0.70 <1.00k

1, 950 390 1, 950
= 975 979

@ HEERBHE @
f
i

4, 501
200 4, 100 200

for 88 5 18 &6 [




(

(

)

)

w,=((24000.162+50)x1.2+150) =677  (kg/n")

RG1 w,=((2400%0.77+50)x1.2+150) =2428
4 w,=((2400%0.969+50)x1.2+150) =3001
W=677x0.975x4.10=2706 (kg)
RG1 W=2428x0.35%0.77x4.10x1/2=1341
4 W=3001x0.20%0.975x2=1170

W 2706+1341+1170=5217 (kg)

PH = W x 0.025 = 5217 x 0.025 =130 (kg)

130(kg) 1

1, 700

I, 125
150

725

1,

57

GIUL 914 l 914 L 914
3,392

1
No=PHx osn ~ 10" 0515 2~ €0s59.0° =0.515
350 kg/
22 o7 K
350 Y
914 mm 2 ) 182.8
b= = =355
014x 2=1828 cosp 0515
£, 355
T N =98
1 1.64 216 /
0.277 0.277
Ji= F x 3600 =205  (kg/cn?)

(AIA ) (216/98)?
F, = Ax f, = 205x 348 =713 >252 (kg ok

-8-

(cm)



cosz((p -8)

. 2
, sin(g +3 )sin(p -B)
cos’@ cos(® +& )|:1+/\/ cos(@ +5 )cos( -B) J

Ka=

¢ =30°

B =0°

cos*(30° -0° )
o —=0.333

%0 0° -0 1+A/ sin(30° +0° )sin(30° -0° )
o ° _0° \x
cos 0° cos( ) cos(0° +0° )cos(0° -0° )

0.75
e ~=0.333
m 0.25
1
b)
cos’(@ +6 )
Kp= 12
, sin(@ -8 )sin(@ +B)
cos'® cos(® +6 )|:1'/\/ cos(6 +d )cos(6 -B)
cos*(30° +0° )
- —=3.000
20 0° -0 1 /\/ sin(30° -0° )sin(30° -0° )
o ° _N° X -
oS cos( ) cos(0° +0° )cos(0° -0° )
0.75
Kp = ~=3.000
i 0.25
N 1
(a =1.0 )
a)

cos’(@ -8 -8 o)

2
, sin(@ +d )sin(¢gp -B-8 o)
cosB  cos @ cos(d +6 +8 () |:1+/\/ cos(d +6 +8 p)cos(8 -B)

K sa=




@ =30°
0 =0°

B =0°
0 ,= 16.67°
8 , =tan 'K h =tan '0.30=0.291=16.67°
a =1.0
Kh=0.15x a x V 1x V 2

0.15x 1.0x 1.0x 2.0=0.300
Ksa=

cos’(30° -0° -16.67° )

2
sin(30° +0° )sin(30° -0° -16.67° )J

€0s16.67° cos0° cos(0° +0° +16.67° )x |:1+/\/ cos(0° +0° +16.67° )cos(0° +0° )

=0.569
b)
cosz((p +6 -0 ()
K sp= 12
, sin(g -8 )sin(g +B-8 o)
cos6 o cos'® cos(d +6 -0 o) |:1‘/\/ cos(d +6 +0 g)cos(® -B)
Ksp=

cos’(30° +0° -16.67° )

2
sin(30° -0° )sin(30° +0° -16.67° )
cos(0° +0° +16.67° )cos(0° -0° )

C0516.67° 05 0° cos(0° +0° -16.67° )x |:1—/\/

=2.419

3 (a =0.5 )

cosz((p -6 -8 )

2
, sin(g +58 )sin(g -B-0 o)
cosB ; cos B cos(d +6 +8 () |:1+/\/ cos(d +6 +8 p)cos(8 -B)

K sa=




@ =30°

Ksa=

0 =0°
5 =0
B =0°
=0.433
0 , = 8.54°
8 , =tan 'K h =tan"'0.15=0.149=8.54°
a =0.5
Kh=0.15x a x V 1x V 2
0.15x 0.5x 1.0x 2.0=0.150
Ksp=

cos’(30° -0° -8.54° )

£ 515 c0s0° cos(0® 10° +3.50 1+/\/ sin(30° +0° )sin(30° -0° -8.54° )
o o o o o X
€0s8.54° c0s0® cos( 547 cos(0° +0° +8.54° )cos(0° +0° )

b)
cosz((p +0 -0 )

2
sin(¢p -6 )sin(¢p +B-6
cosé g cos’0 cos(d +8 -8 o) |:1-/\/ (% -0 )sin(@ 0) J

K sp=

cos(d +6 +6 g)cos(6 -B)

cos*(30° +0° -8.54° )

2
854 2, 0° +0° -8.54 . /\/ sin(30° -0° )sin(30° +0° -8.54° )
o o o o - o x -
€0s8.547 cos 0% cos( 547) cos(0° +0° +8.54° )cos(0° -0° )

=2.727



a)

900

RIE Pw
Pwl
ceal
<
=BT Ep = = TBITE Ea
ep ea
CAD
Pw
1 2 1 2 KN/m
Pw = ?rw h™ = ?x 9.81x 0.9 =3.973
rw ; 9.81 KN/m
Pw
Ka =0.333
ea=Ka(rw h+rs h)
= 0.333x (9.81x 0.9+16.67x h)
=5.551h + 2.94  KN/m’
rs ; 16.67 KN/m
Kp =3.00
ep=Kprsh = 3.0x 16.67x h

=50.00 h KN/m?

ea=ep
5.551h + 2.94 = 50.01h
2.94
_ - m
h= 50.01-5.551 =0.066



900

RIE Pw

NS)

D

™

3 8| 3] -
I8 BE
1
(Ea-Ep)=0.333 x 16.67 x 0.066 x — =0.183

H=Pw+ (Ea+Ep)-= 3.973 + 0.183 = 4.156 KN/m
L= 0.366x Pw +0.044x (Ea-Ep) ~ 0.366x 3.973+0.044x 0.183
- H - 4.156

M
M= 4.156 x 0.45 = 1.870 KNm/m

I
"

3.973 KN/m

M

<
I

3.973x 0.300 = 1.192 KNm/m

Ep

=0.352



300

RIE P

/

=&+ /T ED = = T E T Ea

Pw KN/m

P=19.73x h = 19.73 x 0.9 = 17.757

Pw

Ka =0.333

ea=Ka(w h+rs h)

= 0.333x (9.81x 0.9+16.67x h)

= 5.551h +2.94  KN/m’

rs ; 16.67 KN/m
Kp =3.00
ep=Kprsh = 3.0x 16.67x h

=50.00 h KN/m?

ea = ep
5.551h + 2.94 = 50.01h
2.94
_ - m
50.01-5.551 =0.066



900
T

b6
.| 66

1
(Ea- Ep)=0.333 x 16.67 x 0.066 x — = 0.183

2
H=P+(Ea-Ep)= 17.757 + 0.183 = 17.940 KN/m

- 0.516x P +0.044x (Ea-Ep) _ 0.516x 17.940+0.044x 0.183
B H - 17.940

H= 17.757 KN/m

M
M= 17.757 x 0.45 =7.991 KNm/m

=0.516



900

00 AR

g

P
1 KN/m

Pg=0.30x 0.9 x 0.2x 24.5=1.323

KN/m
H=Pq = 1.323
0.9 m
L L=— =0.450
2
= = H = 1.323 KN/m

430

Hh 25 @

H= 1.323 KN/m

H= 1.323 KN/m

H = 1.323x 0.45=0.595 KNm/m



_ - i B/E
= = o o
a == RIE Pw
= Pwl
=&/t Ep = < = = col
i I = FE LT Ea
Hh B2 B & A D ea
a)
Pw
1 2 1 ) KN/m
Pw = ?rw h™ = ?X 9.81x 0.9 =3.973
Pd
KN/m
Pd=—CKh Wo hl= - 2
=12 0 = 1 x 0.15x 9.81x 0.9 =0.695
2
L =7 0.9=0.360 m
Pw
Ka =0.433
ea=Ka(w h+rs h)
= 0.433% (9.81x 0.9+16.67x h)
=7.22h +3.82  KN/m>
rs ; 16.67 KN/m
Kp =2.727
ep=Kprsh = 2.727x 16.67x h
=45.46 h KN/m?>
ea = ep

7.22h + 3.82 = 45.46h

h = L_O 100 m
T 45.46-7.22



Pq
Pg = 0.15x 0.9% 0.2x 24.5=0.662 KN/m

CAD

_ I = E157
g RIS Pw ~ol

= NS

— ~t
= =— B =g S
= S L™ NG ~

RIS Eo-Ep
1
Ea-Ep= 0.433x 16.67x 0.066x —-=0.238
KN/m

H = Pg+Pw+Pd-(Ea+Ep)= 0.662+3.973+0.695+0.238=5.568

Pgx hg+Pwx hw+Pdx hd+(Ea-Ep)x hap
H

0.662x 0.55+3.973x 0.40+0.695x 0.46+0.238x% 0.066
= 5147 =0.445

KN/m
H = Pg+Pw+Pd = 0.662+3.973+0.695 =5.330

M

M= 0.662x 0.45+3.973x 0.30+0.695x 0.36=1.740  KNm/m

10



cm
D=20
cm

2
cm

As=5.08

CAD

a 5l 4-D13
o 5l 4-D13
- LT A
Sl ¢ % 5-D13 BRARER .
®| o 5| 5-D13 &
Q b
C
D13200
S 14-D13 3 =
i) — ™
0‘7 ™M
O B8 4 o5 B 1
500 |P00
H= 17.757 KN/m

M= 17.757 x 0.45 =7.991

D13@250 As=4-D13=5.08cm?
D13@300
5.08
P="T00x 14 0-00363  0.36 K=0.279 j=0.907
S M 799 9
> = > =0.041 KN/cm
bd® 100x 14
12 2
Lc Kj 0.279x 0.907
N ~303
Ls~ Pj~ 0.00363x 0.907 ~
2
Z M 1 KN/cm KNlcm2
o c= 7 x T-=0.041x 7.90=0.324 < 1.029 ok
2 2
s M KN/cm KN/cm
0 s=—5-x o= 0.041x 303=12.4 < 26.478 ok
bd S
SH 17757 N/cm? N/em’
U S"hid ~ 100 0.907x 14 40 < 3850 ok

11



CAD

o 5 4-D13
o 5 4-D13 .
(@) C@J 57}]13 )jljj)b?\/jj” o
I3 MO @300
© o 5 5-D13 o
Q b
C
D13@200
2 14-D13 | 2
i S ™
0‘7 ™
[ 18 M os L1
800 200
W KN/m
LLLLLLLPL H = 17.940 3
KN/m
5500 w = 17.940 3
2 KNm b
KN 17.940x 3.35 a
_ 17.940x 3.35 _ 20,05 M - 5 166 2
2 As=4-D13=5.08 cm
cm P=ox 77000141 0.14 K=0.185 j=0.938
D =80
cm SM 2517 5
d=172 >= -=0.00971  KN/cm
sz bd 50%x 72
As=5.08 1 2 .
Lc Kj 0.185x 0.938 10
L.t ~756
Ls~ Pj~ 0.00141x 0.938
2
SM 1 KN/cm KN/cm?
o c= v x T<=0.00971x 11.520.112 < 1.029 ok
2 2
Z M 1 KN/cm KN/cm
0 s=——-x ——= 0.00971x 756=7.3 < 26.478 ok
bd Ls
2 2
S H 30050 N/cm N/cm
U S"hid “50x 0.938x 72 0 < 350 ok

12



L] KN/m
H = 17.940
2300 KN/
w = 17.940
17.940x 2.80° KNm
ab = = 17.581
8
As=4-D13=5.08 cm”
17.940x 2.80 KN
= = 25116
2
cm P=tox 23 -0-00242  0.24 K=0.235 j=0.922
D =50
cm SM 1758 5
d=42 > = >=0.0199  KN/cm
e’ bd® 50x 42
As=5.08 1 2 2 “9 7
Lc Kj 0.235x 0.922
L1 ! ~448
Ls ™ Pj~ 0.00242x 0.922
2 2
SM 1 KN/cm KN/cm
o c= " x T-=0.0199x 9.2=0.183 < 1.029 ok
2 2
S M 1 KN/cm KN/cm
0 s=—5-x 7= 0.0199x 448=8.9 < 26.478 ok
bd S
S H 25116 N/cm? N/cm’
U SShjd ~ 50x 0.922x 42 13 < 3850 ok

13



H o
()] ()]
Ip! —|::> o
0
& a b TRANT N
< ‘ ’ //AMBO @300
Ci
D13e200
5 14-D13 B 2
1N S ™
o —— ™M
B IR 4 5s £ B
800 200
CAD
4 3 2
IXx =4720 cm Zx =472 cm A =63.53 cm
3 3
kg/cm N/cm
4/ kKD k; =1.0 9.81
B= 4 E |
D; =20 cm
kg/cm’ KN/cm®
E; =2.1x10 20.6x10,
4 9.81x 20 -1 -
B = /\/ . =0.004739 M =0.474 m
4x 20.60x 10 x 4720

ol6

T KN/m

H = 17.940( é

KN t
+0.93)=46.734 4.766

TR A8 b 2
14



Mmax=-H hym

B h)
ym@ h) B h = 0.474 x 0.516 =0.245
gm(P h) :2.313-Mx 0.045=2.034
0.25-0.20
B h=0.045
KNm

Mmax= -46.734 x 0.516 x 2.034 = -49.049

Hh cm
=T wm (@ h)

f=

Yym@ h) B h = 0.474 x (0.516 - 0.066 ) = 0.213

h 150 150.0-80.9 0.013=131.800
= - X =
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2
Ts= 1.1 S 1.1 40.734 3.213 e
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L. 225 225 _1 066m m
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2 k+1

p k [p K p T]
_ 1 K (P2} (P2
G_ﬁan/RTlx k-1 (pl) (pl)

200[ kPa]
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M=M= M=M= M=M= m=7.02kg M=1522.5kg
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|
|
|
|
I
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Qg as a, . Lﬁ 59cm
3 (12
a, . J,
K ¥,
GJ, (8.3x 10°) N/em?x 201cm* ,
=—= : =2.607x 10'N
r (8cm)
0=24 +L=2x 17cm+25cm=59cm
K bm+M 26070000N 6% 7.02kg+1522.5kg 1
WA = X =1038s
L omM 59cm 6x 7.02kgx 1522.5kg
W R
w ,=1065.8s™
a=1.0cm
2
w3 (1065.85°")
as=ag-——; £ mag=1.0cm- x 17cmx 7.02kgx 1.0cm=0.948001cm
K (2.607% 107)N
2
w2 (1065.85)
c= m= x 17cmx 7.02kg=0.051999
K (2.607% 107)N

a,=0-c(ag+a;)=0.948001cm-0.051999x (1.0cm+0.948001cm)=0.846707cm

a;=a,-c(astasta,)

=0.846707cm-0.051999x (1.0cm+0.948001cm+0.846707cm)=0.701385cm

a,=az-c(agtasta,*tas,)

=0.701385cm-0.051999x% (1.0cm+0.948001cm+0.846707cm+0.701385cm)=0.519592cm
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a,=a,-c(agtasta,tasta,)
=0.519592¢cm-0.051999x% (1.0cm+0.948001cm+0.846707cm+0.701385cm+0.519592¢cm)
=0.31078cm

w2 (1065.85) i

K <2.607>< 107) N

(o x 25cmx 7.02kg=0.076469

a,=a,-c (agtasta,razta,ta,)

=0.31078cm-0.076469x (1.0cm+0.948001cm+0.846707cm+0.701385cm+0.519592cm
+0.31078cm)=-0.0200605cm

R=w’ {(a6+a5+a4+a3+a2+a1)m+aoM}

2
:<1065.85'1> x {(1.0cm+0.948001cm+0.846707cm+0.701385cm+0.519592cm
+0.31078cm) x 7.02kg+(-0.0200605) cmx 1522.5kg} =-1935N

W,

2 w ;=1065.71/s

w (1065.75‘1)2
a5:a6_7£ ma6=1.00m— (2 507% 107)N

x 17cmx 7.02kgx 1.0cm=0.948011cm

W, , (1065.75‘1) 2
C:_ m:
K (2.607x 107) N

x 17cmx 7.02kg=0.051989

a,=as-c(agtas)=0.948011cm-0.051989x (1.0cm+0.948011cm)=0.846736cm

a;=a,-c(astasta,)

=0.846736cm-0.051989x% (1.0cm+0.948011cm+0.846736¢cm)=0.70144cm
a,=az-c(agtasta,tas)

=0.70144cm-0.051989x (1.0cm+0.948011cm+0.846736cm+0.70144cm)=0.519677cm
a,=a,-c(agtasta,tasta,)

=0.519677cm-0.051989% (1.0cm+0.948011cm+0.846736¢cm+0.70144cm+0.519677cm)
=0.310896cm

w2 (1065.75) 2

K (2.607x 107) N

C.= x 25cmx 7.02kg=0.076455

a,=a,-c (agtasta,razta,ta,)
=0.310896cm-0.076455% (1.0cm+0.948011cm+0.846736cm+0.70144cm+0.519677¢cm
+0.310896cm)=-0.0199064cm

R=w’ {(ae+a5+a4+a3+a2+a1)m+a0M}

2
:(1065.75‘1> x {(1.0cm+0.948011cm+0.846736cm+0.70144cm+0.519677cm
+0.310896¢cm) x 7.02kg+(-0.0199064)cmx 1522.5kg} =754N
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